Standards-based Assessment Bank
8th Grade Non-Fiction


Index to Questions
	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Type
	Description

	9
	OAT March 05
	A
	RP 8.2
	Wheels of Wonder
	Advertisement
	This multiple-choice question asks students to compare and contrast.

	10
	OAT March 05
	D
	IT 8.7
	Wheels of Wonder
	Advertisement
	This multiple-choice question asks students to analyze and study what authors reveal about their attitudes through the words they use.

	11
	OAT March 05
	A
	IT 8.1
	Wheels of Wonder
	Advertisement
	This multiple-choice question asks students to think about how the text features (such as format, or design, and the section headings) of informational text make information accessible and usable.

	12
	OAT March 05
	D
	IT 8.6
	Wheels of Wonder
	Advertisement
	This short-answer question asks students to identify the intended audience of different texts and supply supporting details from the passage.

	13
	OAT March 05
	C
	AV 8.2
	Wheels of Wonder
	Advertisement
	This multiple-choice question asks students to think about the meaning of the sentence provided in the question.

	14
	OAT March 05
	A
	IT 8.9
	Wheels of Wonder
	Advertisement
	This multiple-choice question asks students to think about the passage as a whole. 

	37
	OAT March 05
	B
	IT 8.5
	Shifting Sands
	Science
	This multiple-choice question asks students to read and think about details that authors use to explain or argue ideas.

	38
	OAT March 05
	C
	IT 8.4
	Shifting Sands
	Science
	This multiple-choice question asks students to analyze, or think through, information that is shown graphically or visually.

	39
	OAT March 05
	A
	RP 8.1
	Shifting Sands
	Science
	This multiple-choice question asks students to know and use reading strategies. The two strategies students need are recalling and summarizing.

	40
	OAT March 05
	A
	AV 8.1
	Shifting Sands
	Science
	This multiple-choice question asks students to use context clues, or the words and sentences around words, to define words they do not know.

	41
	OAT March 05
	D
	IT 8.7
	Shifting Sands
	Science
	This extended-response question asks students to explain the development of key points, or important ideas, in a passage.

	42
	OAT March 05
	B
	RP 8.2
	Shifting Sands
	Science
	This multiple-choice question asks students to read and think about the details that authors use to explain or argue ideas.
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	Description

	43
	OAT March 05
	A
	IT 8.2
	Shifting Sands
	Science
	This multiple-choice question asks students to identify the way informational text is organized.  

	44
	OAT March 05
	D
	IT 8.6
	Shifting Sands
	Science
	This multiple-choice question asks students to determine the main topics of the passage and identify the author’s purpose for writing.

	20
	OAT March 06
	B
	RP 8.2
	Planning A Canal
	Social Studies
	This multiple-choice question asks students to reread the passage closely. This is a literal question and the answer is stated directly in the text.

	21
	OAT March 06
	A
	AV 8.1
	Planning A Canal
	Social Studies
	This multiple-choice question asks students to reread the passage and focus on the context clues surrounding the word dramatically.

	22
	OAT March 06
	B
	IT 8.5
	Planning A Canal
	Social Studies
	This multiple-choice question asks students to reread the passage and think about what the author is inferring.

	23
	OAT March 06
	C
	RP 8.2,        IT 8.4
	Planning A Canal
	Social Studies
	This extended-response question asks students to analyze whether graphics supplement textual information and promote the author’s purpose.

	24
	OAT March 06
	B
	RP 8.2
	Planning A Canal
	Social Studies
	This multiple-choice question asks students to reread the passage. This is a literal question and the answer is stated in the text.

	25
	OAT March 06
	C
	AV 8.4
	Planning A Canal
	Social Studies
	This multiple-choice question asks students to focus on the figurative language being used in the passage.

	26
	OAT March 06
	D
	IT 8.7
	Planning A Canal
	Social Studies
	This multiple-choice question asks students to read the text carefully and analyze the author’s viewpoint.

	27
	OAT March 06
	A
	IT 8.2
	Planning A Canal
	Social Studies
	This multiple-choice question asks students to evaluate how structures help authors achieve their purposes.

	28
	OAT March 06
	D
	IT 8.7
	Planning A Canal
	Social Studies
	This multiple-choice question asks students to read the text and analyze the author’s viewpoint.  Answer choice “A” is correct.

	29
	OAT March 06
	B
	RP 8.2
	Planning A Canal
	Social Studies
	This short-answer question asks students to read the passage and find and use information from the passage to answer the question.

	37
	OAT  May 07
	C
	IT 8.4
	Silent Picture Shows
	Social Studies
	This multiple-choice question asks students to read the passage carefully and pay close attention to the details of the passage.
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	38
	OAT  May 07
	A
	IT 8.1
	Silent Picture Shows
	Social Studies
	This multiple-choice question asks students to read the passage carefully and determine how features and characteristics of text make information accessible for readers.

	39
	OAT  May 07
	A
	IT 8.2
	Silent Picture Shows
	Social Studies
	This multiple-choice question asks students to read the passage carefully and determine how features and characteristics of text make information accessible for readers.

	40
	OAT  May 07
	A
	RP 8.2
	Silent Picture Shows
	Social Studies
	This multiple-choice question asks students to read the passage carefully and recall the events in the passage.

	41
	OAT  May 07
	D
	AV 8.5
	Silent Picture Shows
	Social Studies
	This short-answer question asks students to read the passage carefully and think about the significance of the development of film and how this event influenced and changed the English language.

	42
	OAT  May 07
	A
	AV 8.1
	Silent Picture Shows
	Social Studies
	This multiple-choice question asks students to read the passage carefully and focus on the word capitalized and how it is used in the excerpt in the question.

	43
	OAT  May 07
	D
	IT 8.7
	Silent Picture Shows
	Social Studies
	This multiple-choice question asks students to read the passage carefully and analyze the author’s viewpoint.

	44
	OAT  May 07
	B
	RP 8.2
	Silent Picture Shows
	Social Studies
	This multiple-choice question asks students to read the passage carefully and pay close attention to the details in the passage.

	31
	OAT  May 08
	D
	IT 8.6
	An Excerpt from John Glenn:  A Memoir
	Memoir
	This multiple-choice question asks students to read the passage carefully and think about the author’s intended audience.

	32
	OAT  May 08
	C
	RP 8.3
	An Excerpt from John Glenn:  A Memoir
	Memoir
	This multiple-choice question asks students to read the passage carefully and pay close attention to the context that surrounds the word collection.

	33
	OAT  May 08
	B
	RP 8.2
	An Excerpt from John Glenn:  A Memoir
	Memoir
	This multiple-choice question asks students to read the passage carefully and think about the words and phrases used to describe John Glenn.

	34
	OAT  May 08
	A
	IT 8.2
	An Excerpt from John Glenn:  A Memoir
	Memoir
	This multiple-choice question asks students to read the passage, paying close attention to the organization of the passage.
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	35
	OAT  May 08
	A
	RP 8.1
	An Excerpt from John Glenn:  A Memoir
	Memoir
	This short-answer question asks students to read the passage carefully, paying close attention to John Glenn’s descriptions of both type of sunsets, the sunset he viewed from Friendship 7 as well as the sunsets he viewed from Earth.

	36
	OAT  May 08
	B
	IT 7.6
	An Excerpt from John Glenn:  A Memoir
	Memoir
	This multiple-choice question asks students to read the passage carefully and evaluate the language the author uses.

	37
	OAT  May 08
	D
	IT 8.7
	Mystery of the Mima Mounds
	Science
	This multiple-choice question asks students to read the passage carefully and to think about how the author appeals to an audience.

	38
	OAT  May 08
	A
	RP 8.2
	Mystery of the Mima Mounds
	Science
	This multiple-choice question asks students to read the passage very carefully and recall information.

	39
	OAT  May 08
	C
	AV 8.4
	Mystery of the Mima Mounds
	Science
	This multiple-choice question asks students to read the passage carefully and pay particular attention to the use of the word hatched.

	40
	OAT  May 08
	B
	RP 8.2
	Mystery of the Mima Mounds
	Science
	This multiple-choice question is an inferential question that asks students to read the passage carefully and use information from the passage to draw a conclusion.

	41
	OAT  May 08
	D
	IT 8.7
	Mystery of the Mima Mounds
	Science
	This extended-response question asks students to read the question carefully and focus on the author’s use of descriptive language.

	42
	OAT  May 08
	A
	IT 8.1
	Mystery of the Mima Mounds
	Science
	This multiple-choice question asks students to read the passage carefully and to think about the author’s use of italics throughout this passage.

	43
	OAT  May 08
	A
	IT 8.1
	Mystery of the Mima Mounds
	Science
	This multiple-choice question asks students to read the passage carefully and think about the function of the first heading.

	44
	OAT  May 08
	A
	IT 8.2
	Mystery of the Mima Mounds
	Science
	This multiple-choice question asks students to read the passage carefully and think about how this passage is organized.


BACK TO INDEX
Passage:

Wheels of Wonder

1700 NE Milagro • Charlack, Nebraska 68001

888/432-5670 • www.wowonder.com
Wheels of Wonder

1 Wheels of Wonder is a community bike shop that sells and services used bicycles for the public.  Bicycles are sold at a low-cost with a three-month warranty.  In other words, if a WOW customer is not completely satisfied, or if the merchandise purchased fails to perform properly, the customer can get a full refund.

2 Wheels of Wonder builds skills and fosters the personal growth of youth through community-based recreational and educational bicycle programs and services.  WOW provides after-school riding and maintenance/safety programs; summer programs; a full-service bike shop; classes in safety, bike repair, commuting and riding; and a program to get adults on fully outfitted commuter bikes.

3 All bicycles, parts, and supplies at WOW are donated by institutions, local businesses, and individuals.  Staff, volunteers, youth, and young adults repair bikes for our programs and for sale in our bike shop.  WOW partners with schools, state agencies, and other local groups to ensure the success of its programs and to find additional ways to serve the community with bicycles.

4 WOW is open Wednesday through Friday from noon until 7 p.m., Saturday from 9 am. until 5 p.m., and Sunday from 10 a.m. until 3 p.m.

Your Help is Needed!

Become a Member of WOW
5 As a member, you get two opportunities a year to work on your own bike using our tools, stands, and workspace.  In addition, you also receive a 10% discount in the shop and have the wonderful feeling of knowing that you support our programs.  (See membership form below.)

Volunteer at WOW

6 As a volunteer, you may contribute to all of our programs.  This could mean writing the quarterly newsletter, updating our Web pages, answering the telephone, helping customers, and repair bicycles.

Attend WOW Classes and Events

7    Wheels of Wonder offers classes, organized rides, and special events, all of which help support our mission.

Make a Donation to WOW

8    If you have a bicycles or any bicycle-related equipment that you have outgrown or no longer use, dust it off and bring it to WOW.  Better yet, just bring it —we’ll take care of the dust.


9 If nothing else, you can help by simply riding your bike!  While you’re at it, ride your bike everywhere you can.  At WOW, we believe that bicycling has a ripple effect.  It only takes one cyclist to get a whole community moving in the right direction.


WOW Membership Form

__Student $15     __Single $25     __Family $40

__I want to help on a regular basis!


I will donate ___ hours per month.


I will donate $___ per month

Name: ________________ Address:_________________

City/State/Zip : __________________________________

Phone: ___________  Email:_______________________

Signature: _____________________________________

                             Reaching Kids • Recycling Bikes • Restoring Community

Reprinted by permission of the Community Cycling Center, 1700 NE Alberta, Portland, Oregon 97211. Permission: © Community Cycling Center

BACK TO INDEX
	Benchmark:     A
	Apply reading comprehension strategies to understand grade-appropriate text.

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

9.   WOW members and WOW volunteers are alike in that they both
A. receive a discount on purchases. 

B. help with the quarterly newsletter. 

C. deal with the customers. 

D. work in the repair shop. 



ID: 1851; Version: 2 


Commentary:

This multiple-choice question asks students to compare and contrast.  Comparing and contrasting is a reading strategy which is used to think about how things are the same and how they are different.  When we read novels, we often compare the characters with people we know or with people in other books or movies.  When we read a history book, we might compare how two events are the same or contrast how life long ago was different from life today.  When we read a persuasive essay, we might contrast different points of view on a topic.  Comparing and contrasting helps readers understand and make connections about what they read.  To answer this question correctly, students must compare how members of WOW and volunteers of WOW are alike and how they are different.  The passage says that “As a member, you get two opportunities a year to work on your own bike using our tools, stands, and workspace.”  As a volunteer, you get to contribute to all programs, including “repairing bicycles.”  The passage also states that volunteers “repair bikes for our program.”  Given this information, the correct answer choice is D, “work in the repair shop.”  If a student chooses A, “ receive a discount on purchases,” the student may not have noticed how WOW members and volunteers are alike and different.  The passage states that WOW members get discounts on purchases; however, volunteers do not.  Both members and volunteers do repair bicycles.  If a student chooses B, “help with the quarterly newsletter,” the student may not have noticed how WOW members and volunteers are alike and different.  The passage states that volunteers help with the newsletter; however, members do not.  Both members and volunteers do repair bicycles.  If a student chooses C, “deal with the customers,” the student may not have noticed how WOW members and volunteers are alike and different.  The passage states that volunteers work with customers; however, members do not.

Performance Data:

The percent of public school students selecting answer choice D for question 9 on the March 2005 Grade 8 Reading Achievement was 71%.

Keywords:  reading strategies, compare and contrast
BACK TO INDEX
	Benchmark:     D
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.7
	Analyze an author’s argument, perspective or viewpoint and explain the development of key points.


Multiple Choice Question:

10.   Which statement best describes the author’s viewpoint about Wheels of Wonder?

A. It is in desperate need of help. 

B. It is a worthwhile organization. 

C. It is growing faster than expected. 

D. It is an ideal place to meet people. 



ID: 1847; Version: 3 


Commentary:

This multiple-choice question asks students to analyze and study what authors reveal about their attitudes through the words they use.  Students look at the ideas that authors write about and develop.  They think about how these ideas show the authors’ opinions, or points of view.  In this passage, the author uses positive words and ideas.  WOW is shown as a useful organization.  In paragraph 1, the author describes how much care WOW takes to make sure that customers are happy.  In paragraph 2, the author writes that WOW “builds skills and fosters the personal growth of youth.”  Finally, in paragraph 3, the author describes how WOW partners with other organizations and works to “serve the community.”  Together, these details show that WOW is important and helpful.  The author ends by writing: “At WOW, we believe that bicycling
 has a ripple effect.  It only takes one cyclist to get a whole community moving in the right direction.”  The correct answer is B, “It is a worthwhile organization.”  If a student chooses A, “It is in desperate need of help,” the student may not have been able to determine an author’s 
viewpoint.  The student might have confused the call for help in the passage (“Your Help is Needed!”) as a frantic or urgent request.  Although the organization does want help, there is no reason to suspect that it is in “desperate need” of help.  With its varied times of operation, as well as the classes and workshops offered, WOW appears to be doing well.  If a student chooses C, “It is growing faster that expected,” the student may not have been able to determine the author’s viewpoint.  The passage does not discuss how the WOW organization has grown over the years.  With its varied times of operation, as well as the classes and workshops offered, WOW appears to be doing well.  If a student chooses D, “It is an ideal place to meet people,” the student may not have been able to determine an author’s viewpoint.  WOW might be a good place to meet people, but the passage never discusses this.  However, with its varied times of operation, as well as the classes and workshops offered, WOW appears to be doing well.

Performance Data:

The percent of public school students selecting answer choice B for question10 on the March 2005 Grade 8 Reading Achievement was 77%.
Keywords:  point of view, author’s argument
BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.1
	Compare and contrast text features, including format and headers of various informational texts in terms of their structure and purpose.


Multiple Choice Question:
11.    What is the purpose of the bold headings throughout the passage?
A. to identify three programs at WOW 

B. to provide three ways to contact WOW 

C. to highlight three accomplishments of WOW over the years 

D. to divide the information on WOW into three main sections 


ID: 1854; Version: 7 


Commentary:

This multiple-choice question asks students to think about how the text features (such as format, or design, and the section headings) of informational text make information accessible and usable.  Students think about how authors format texts to give information to the reader and why authors use features such as headings.  It also asks students to think about what a bold heading is.  The bold headings in this passage, “Wheels of Wonder,” “Your Help Is Needed!” and “WOW Membership Form,” help organize the information.  The passage has three main parts.  The first part tells about Wheels of Wonder.  The second part tells how people can help,
and the third part is a form for people who want to help.  The bold headings divide these sections.  The correct answer is D, “to divide the information on WOW into three sections.”  If a student chooses A, “to identify three programs at WOW,” the student may not know what a bold heading is or know the purpose of bold headings.  These headings,” Wheels of Wonder,” “Your Help Is Needed!” and “WOW Membership Form,” do not identify three programs at WOW.  Instead, they help organize the information in the passage.  If a student chooses B, “to provide three ways to contact WOW,” the student may not know what a bold heading is or know the purpose of bold headings.  These headings, “Wheels of Wonder,” “Your Help Is Needed!” and “WOW Membership Form,” do not provide ways to contact WOW.  Instead, they help organize the information in the passage.  If a student chooses C, “to highlight three accomplishments of WOW over the years,” the student may not know what a bold heading is or know the purpose of bold headings.  These headings, “Wheels of Wonder,” “Your Help Is Needed!” and “WOW Membership Form,” do not highlight three accomplishments of WOW.  Instead, they help organize the information in the passage.   

Performance Data:

The percent of public school students selecting answer choice D  for question 11 on the March 2005 Grade 8 Reading Achievement was 71%.

Keywords:  text features, author’s purpose
BACK TO INDEX
	Benchmark:     D
	Explain and analyze how an author appeals to an audience and develops an  argument or viewpoint in text.

	GLI:                          IT 8.6
	Identify the author’s purpose and intended audience for the text.


Short Answer Question:

12.  
Who is most likely the intended audience for this passage? Use two details from the passage to support your answer. Write your answer in the Answer Document.
(2 points) 

Commentary:

This short-answer question asks students to identify the intended audience of different texts and supply supporting details from the passage.  Students need to describe the intended audience of this passage by providing two details that show who the audience might be.  This audience is older students and adults.  The passage seeks members and volunteers for WOW.  Younger students probably would not be able to join or help at WOW because of the required dues and responsibilities.

Performance Data:

The percent of public school students earning each score point for question 12 on the March 2005 Ohio Achievement Test was:

	Percent at Each Score Point

	0
	
	1
	
	2

	7%
	
	33%
	
	59%


Scoring Guidelines:

2 point text
The response is complete and accurate. It describes the intended audience and supports that description with two details from the passage.

Examples:

I think the main audience for this passage ranges from older students to adults because 

· to be a member you have to pay

· when you’re a member you spend time in the repair shop, which would be too dangerous for young children.

· the passage talks about giving old bikes to WOW, which would mean you’re not likely a very young child.
· the programs are mostly for students, but there is one for adults too.

· it asks for donations of money; small children don’t usually make money donations to groups.

1 point text

The response is partial and accurate. It describes the intended audience and may or may not include a supporting detail.

0 point text

The response indicates no understanding of the task.

Keywords:  Author’s argument, Audience
BACK TO INDEX
	Benchmark:     C
	Recognize the importance and function of figurative language.

	GLI:                  AV 8.2
	Apply knowledge of connotation and denotation to determine the meaning of words.


Multiple Choice Question: 

13.   “WOW partners with schools, state agencies, and other local groups to ensure the                                                                                                                                                                                                                                                                      success of its programs and to find additional ways to serve the community with bicycles.”
  The word partners suggests that WOW is 

A. practical. 

B. successful. 

C. cooperative. 

D. popular. 

Commentary:

This multiple-choice question asks students to think about the meaning of the sentence provided in the question.  The sentence describes WOW as working with other groups.  To partner means to do something with someone else. The correct answer is C, “cooperative.”  If a student chooses A, “practical,” the student may not have understood the meaning of the sentence for the word “partners” as it is used here.  Although the passage portrays WOW positively, and “practical” is a positive adjective, it is not what the word “partners” suggests.  To partner means to do something with someone else.  Working with other groups suggests that WOW cooperates with them.  If a student chooses B, “successful,” the student may not have understood the meaning of the sentence or the word “partners” as it is used here.  Although the passage portrays WOW positively, and “successful” is a positive adjective, it is not what the word “partners” suggests.  To partner means to do something with someone else.   Working with other groups suggests that WOW cooperates with them.  If a student chooses D, “popular,” the student may not have understood the meaning of the sentence or the word “partner” as it is used here.  Although the passage portrays WOW positively, and “popular” is a positive adjective, it is not what the word “partners” suggests.  To partner means to do something with someone else.  Working with other groups suggests that WOW cooperates with them. 

Performance Data:

The percent of public school students selecting answer choice C for question 13 on the March 2005 Grade 8 Reading Achievement Test was 71%.

Keywords:  vocabulary, figurative language
BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:               IT 8.9
	Distinguish the characteristics of consumer materials (e.g., warranties, product information, instructional materials), functional or workplace documents (e.g., job-related materials, memoranda, instructions) and public documents (e.g., speeches or newspaper editorials).


Multiple Choice Question: 

14.   The “Wheels of Wonder” passage is most similar to
A. an editorial in a local newspaper. 

B. a set of detailed instructions. 

C. an informational brochure. 

D. a school bus schedule. 

E. 

F. ID: 126; Version: 6 
G. 

ID: 126; Version: 6 


Commentary:

This multiple-choice question asks students to think about the passage as a whole.  The passage describes the WOW organization and provides information about it.  Students should also think about the characteristics, or qualities and features, of different kinds of informational  texts. Public documents are texts that are written for everyone to read or hear.  A speech made by the mayor is a public document.  A brochure about an organization or about an event is also a public document.  This passage advertises for WOW and includes details to help convince people to join WOW.  The correct answer is C, “an informational brochure.”  If a student chooses A, “an editorial in a local newspaper,” the student may not be familiar with different kinds of informational text, such as editorials, instructions, schedules, or brochures.  A newspaper editorial is an article that provides people’s opinions on topics.  The passage does not contain opinions.  It provides information about the WOW organization.  If a student chooses B, “a set of detailed instructions,” the student may not be familiar with different kinds of informational text, such as editorials, instructions, schedules or brochures.  A set of instructions would give the reader directions and tell the reader, step by step, how to do something. The passage is not written as steps for the reader to follow.  It provides information about the WOW organization. If a student chooses D, “a school bus schedule,” the student may not be familiar with different kinds of informational text, such as editorials, instructions, schedule, or brochures.  A school bus schedule would list pickup and drop-off times at bus stops.  The passage does not include bus times or locations.  It provides information about the WOW organization.  

Performance Data:

The percent of public school students selecting answer choice C for question 14 on the March 2005 Grade 8 Reading Achievement Test was 78%.

Keywords:  consumer materials, functional or workplace documents
BACK TO INDEX
Passage:

Planning a Canal

The Panama Canal is 50 miles long and spans the Isthmus of Panama to join the Atlantic and Pacific oceans. It cuts southeastward across the narrowest point between the oceans. Built 1904-1914 at an initial cost of $366,650,000, the canal was an impressive engineering feat. Because it spans mountainous terrain, the canal has a system of six ships as they pass to different levels. The gates at each end of a lock can be opened in two minutes, and the lock may be filled or emptied in less than 10 minutes. A 30,000-pound chain prevents ships from ramming the gates before they open. Two artificial lakes, Gatun and Madden, have been created to supply water to the locks. For large ships, the total passage time through the canal is approximately 8 hours.

1 
The east and west coasts of much of North and South America are hundreds, even thousands, of miles apart. Accordingly, the Atlantic Ocean in the east and the Pacific Ocean in the west are far apart along both continents. But in Central


America, at the base of North America, the land narrows dramatically, and in


Panama, the two oceans come within just fifty miles of each other.

2 
The closeness of the oceans at that point was extremely frustrating to early kings,


explorers, and military leaders. A ship could sail easily from Europe to the Atlantic

coast of the Americas. But to continue on to the Pacific Ocean, the ship would have to go around Cape Horn at the tip of South America—a dangerous journey that took many weeks. Sailors knew that a canal across Central America would make the trip much shorter, and a canal would encourage trade and exploration. Most important of all, it would save time.

3 
The possibility was exciting, and for centuries, people thought about building a canal. As early as 1534, King Charles I of Spain recommended digging one. In 1804, German scholar Alexander von Humboldt mapped out routes for a canal across Central America. Spain formed a company in 1819 solely to attempt to build a canal through Panama.
[image: image1.emf]
4
Unfortunately for travelers, none of these early efforts amounted to anything. One problem was technology. Digging a fifty-mile canal was a massive job that required heavy machinery and specialized tools. Then there was the question of money. Building a canal was expensive, and no nation or company was willing to put the huge amount of money needed into the project. Perhaps the biggest issue was the land itself. Central America was full of mountains, rain forests, and swamps. Nicaragua (north of the final building site of Panama), once considered as a possible spot for a canal, was rejected because of volcanic action. In addition, mosquitoes and tropical diseases thrived in the Central American heat. The combination of such conditions meant the real possibility of illness or death.
5 
So the canal remained a dream—until the last quarter of the nineteenth century.


Then the race to build one began with France. Having just been defeated in the


Franco-Prussian War by Prussia, France was eager to prove itself as a nation.


Constructing a Central American canal seemed the perfect solution. The French


were determined to use their engineering know-how to succeed. Once the canal was built, they could decide who got to use it and how much to charge for the privilege.
[image: image2.emf]
6
In 1875, French engineer Ferdinand de Lesseps proposed a sea-level route across the Panamanian isthmus,2 which at the time was owned by Colombia. De Lesseps’s plan did not involve locks to raise and lower the water level. He envisioned the canal as one long ditch, with water flowing freely between the oceans. Although a few scientists questioned whether this approach would work and some expressed concern over the mixing of different sea creatures, most of France applauded the idea. The French government paid Colombia for the right to build a canal, and De Lesseps went to work in 1881.
7
The skeptics were correct. De Lesseps badly underestimated how much earth had to be moved, and working conditions were even worse than had been anticipated. In 1887, after six years of trying, de Lesseps finally admitted that locks were necessary. By then, the French had spent millions of dollars and no longer had enough money to continue the project. After 1889, the French kept a lightly manned crew on the site to maintain their rights. By 1899, France had formally given up work on the Panama Canal.
8 
The United States had toyed with the idea of building a canal since the early 1800s. By 1900, however, it had become clear that a canal was a necessity. In 1898, during the Spanish-American War, an American naval ship in the northern Pacific had been called to the Atlantic Ocean. Its journey around Cape Horn had taken more than two months. A world-class navy could not afford such delays. Eager to guarantee safe and quick passage for naval ships, U.S. president Theodore Roosevelt proposed buying France’s rights to the Panamanian route, building a canal, and paying Colombia for the strip of land surrounding it.
9
The plan easily won Congress’ approval, and France was willing to sell its rights. The only problem was Colombia, which refused the United States’ terms. Furious,


Roosevelt encouraged the Panamanian people to stage a rebellion against


Colombia. In 1903, with U.S. backing, Panama soon won its independence. Its


leaders eagerly agreed to let the United States build the canal.

10 
Today, Roosevelt’s aggressive behavior is hard to defend. But in 1903, few Americans or Panamanians questioned his tactics. Just as it had been with France, national pride was an important issue. The United States had the chance to dig the canal that France could not. If America succeeded, it could control traffic between the Atlantic and the Pacific and finally bring together the two oceans. In 1904, construction officially began on what would become the Panama Canal.

Excerpts from COBBLESTONE’S April 2001 issue: The Panama Canal, © 2001, 
Cobblestone Publishing, 30 Grove Street, Suite C, Peterborough, NH 03458. All Rights 
Reserved. Reprinted 
by permission of Carus Publishing Company.

_________________________

1breakwater:  a barrier constructed off the coast to lessen the impact of ocean waves [the     footnote in the graphic above does not appear on the graphic in the form, but rather, at the bottom of that page]

2isthmus:  narrow strip of land connecting two larger land masses
BACK TO INDEX
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (e.g., literal, inferential, evaluative and synthesizing).

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
20.   What was the main reason for relocating the canal from Nicaragua to Panama?

A. the sea creatures

B. lack of technology

C. volcanic activity

D. cost of construction

Commentary:
This multiple-choice question asks students to reread the passage closely.  This is a literal question and the answer is stated directly in the text.  Answer choice “A” is incorrect because the main reason for relocating the canal from Nicaragua to Panama was the volcanic action, not
the sea creatures.  The scientists did not want to mix different sea creatures but this was not the
reason for relocating the canal from Nicaragua to Panama.  Answer choice “B” is incorrect.  In paragraph four, a general statement is made about the lack of technology, that the massive job required heavy machinery and specialized tools.  Even though the statement is made, it is not specific to Nicaragua.  Answer choice “C” is correct.  In paragraph four, it states specifically that “Nicaragua(north of the final building site of Panama), once considered as a possible spot for a canal was rejected because of volcanic action.”  Answer choice “D” is incorrect.  The main reason for relocating the canal was because of volcanic action near Nicaragua.

Performance Data:
The percent of public school students selecting answer choice C for question 20 on the March 2006 Grade 8 Reading Achievement Test was 61%.
Keywords:  comprehension, literal question

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                   AV 8.1
	Define unknown words through context clues and the author’s use of comparison, contrast and cause and effect.


Multiple Choice Question:

21. “Accordingly, the Atlantic Ocean in the east and the Pacific Ocean in the west are far apart along both continents. But in Central America, at the base of North America, the land narrows dramatically, and in Panama, the two oceans come within just fifty miles of each other.”

The author uses the word dramatically to show that the land narrows in a way that is

A. abrupt.

B. beautiful.

C. exciting.

D. subtle.

Commentary:
This multiple-choice question asks students to reread the passage and focus on the context clues surrounding the word dramatically.  The reader should understand that the word, in this context, means suddenly or abruptly.  Answer choice “A” is correct.  Since the two oceans are set far apart along both continents, for them to come within fifty miles of each other at a certain point is quite abrupt or unexpected.  Answer choice “B” is incorrect.  The passage does not describe the way the land comes together as beautiful.  Answer choice “C” is also incorrect.  The passage does not describe the way the land comes together as exciting.  Answer choice “D” is incorrect.  The passage does not describe the way the land comes together as subtle.
Performance Data:
The percent of public school students selecting answer choice A for question 21 on the March 2006 Grade 8 Reading Achievement Test was 68%.
Keywords:   vocabulary, context clues

BACK TO INDEX
	Benchmark:     B
	Identify examples of rhetorical devices and valid and invalid inferences and explain how author use these devices to achieve their purposes and reach their intended audiences.

	GLI:               IT 8.5
	Assess the adequacy, accuracy and appropriateness of an author’s details, identifying persuasive techniques (e.g., bandwagon, testimonial and emotional word repetition) and examples of bias and stereotyping.


Multiple Choice Question:
22. “As early as 1534, King Charles I of Spain recommended digging one [a canal].”

The author probably included this sentence to

A. show how long the desire for a canal had existed.

B. convince readers that building the canal was a good idea.

C. prove that building the canal required modern technology.

D. inform readers that the project had been tried many times.

Commentary:
This multiple-choice question asks students to reread the passage and think about what the author is inferring.  Answer choice “A” is correct.  By showing how long the desire to build the canal existed, the author emphasizes its’ importance to the many countries it now serves.  Answer choice “B” is incorrect.  Since the canal has been in existence many years, it is not necessary to try to convince the reader that building the canal is a good idea.  Answer choice “C” is also incorrect.  The author proved that the building of the canal required modern technology when de Lessseps’ plan that did not include locks to raise and lower the water level did not work.  Answer choice “D” is incorrect.  The project has only been tried once (by the French) before the United States took it over and completed it.

Performance Data: 

The percent of public school students selecting answer choice A for question 22 on the March 2006 Grade 8 Reading Achievement Test was 73%.
Keywords:  reading strategy, inference
BACK TO INDEX
	Benchmark:     C
	Analyze whether graphics supplement textual information and promote the author’s purpose.

	GLI:                           IT 8.4,               RP 8.2
	IT 8.4:    Analyze information found in maps, charts, tables, graphs, diagrams, cutaways and overlays.
RP 8.2:   Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Extended Response Question:
23. Using information in the passage and diagram on page XX, describe one similarity and    one difference between Ferdinand de Lesseps' proposed plan and the actual construction of the canal by the United States. Give two reasons why de Lesseps' plan failed. Write your answer in the Answer Document. (4 points)
Commentary:
This extended-response question asks students to analyze whether graphics supplement textual information and promote the author’s purpose.  Students should reread the passage carefully and analyze the passage and diagram.  In order to earn 4 points, students should include 4 things in their answer: 1) one similarity between de Lesseps’ plan and the actual construction, 2) one difference between de Lesseps plan and the actual construction, and 

3 & 4) two reasons why de Lesseps’ plan failed.

Scoring Guidelines:
	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	4 
	The response provides an accurate description of one similarity and one difference between de Lesseps' plan and the actual construction of the canal by the United States. The response includes two reasons why de Lessups’ plan failed.
Example:
The plans of de Lesseps and the United States were similar in that both proposed to use the same route. A difference was that de Lesseps' plan called for one long ditch without locks while the U.S. plan called for the use of locks to raise and lower the water level for ships (shown in diagram). De Lesseps' plan failed because:


• he underestimated the amount of dirt that had to be moved.

• he didn't anticipate the poor quality of the working conditions.

• he didn't include locks.

• France no longer had enough money to continue the project.

Other relevant, text-based reasons


	3 


	The response is accurate and meets THREE of the task requirements (similarity, difference, two reasons for failure) with support.

	
	3 point sample answer:




	2 


	The response is accurate and meets TWO of the task requirements (similarity, difference, two reasons for failure) with support. 

	
	2 point sample answer:




	1 


	The reason is accurate and meets ONE of the task requirements (similarity, difference, two reasons for failure). It may or may not include support.

	
	1 point sample answer:




	0 point text


	The response meets none of the task requirements.

	
	0 point sample answer:




Performance Data:
The percent of public school students earning each score point for question 23 on the March 2006 Grade 8 Reading Achievement Test:

	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	19%
	
	20%
	
	24%
	
	23%
	
	09%


Keywords:  graphics, author’s purpose

BACK TO INDEX
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (e.g., literal, inferential, evaluative and synthesizing).

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
24. How did President Theodore Roosevelt overcome the greatest obstacle to his proposed canal plan? 

A. He forced France to sell its rights to the canal.

B. He relocated the site from Nicaragua to Panama.

C. He encouraged Panama to pursue independence.

D. He convinced Congress that the canal was a necessity.

Commentary:
This multiple-choice question asks students to reread the passage.  This is a literal question and the answer is stated in the text.  Answer choices “A”,  “B” and “D” are incorrect since the information stated in each of those answer choices is not in the passage.  Answer choice “C” is correct.  In paragraph 9, the passage states that President Roosevelt encouraged the Panamanian people to pursue independence by staging a revolt against Colombia.

Performance Data:
The percent of public school students selecting answer choice “C” for question 24 on the March 2006 Grade 8 Reading Achievement Test was 56%.


Keywords:  comprehension, literal question
BACK TO INDEX
	Benchmark:     C
	Recognize the importance and function of figurative language.

	GLI:                             AV 8.4
	Infer the literal and figurative meaning of words and phrases and discuss the function of figurative language, including metaphors, similes and idioms.


Multiple Choice Question:
25. The author states that “The United States had toyed with the idea of building a canal since the early 1800s.”

The author's statement means that the United States government had

A. behaved in an immature fashion.

B. constructed several scale models.

C. occasionally thought about the project.

D. had difficulty in maintaining interest.

Commentary:
This multiple-choice question asks students to focus on the figurative language being used in the passage. A figure of speech is a word or phrase that has a meaning other than its’ literal or actual meaning. Answer choice “A” is incorrect. In the sentence, “toyed” means thought about, not behaved in an immature fashion. Answer choice “B” is also incorrect. In the sentence, “toyed” means thought about, not that the government had constructed several scale models.  Answer choice" C ” is correct. In the sentence, “toyed” means thought about since the government had occasionally thought about the project. Answer choice “D” is incorrect. In the sentence, “toyed” means thought about, not having difficulty in maintaining interest.

Performance Data:
The percent of public school students selecting answer choice C for question 25 on the March 2006 Grade 8 Reading Achievement Test was 69%.
Keywords:  vocabulary, figurative language

BACK TO INDEX
	Benchmark:     D
	Explain and analyze how an author appeals to an audience and develops an argument or viewpoint in text.

	GLI:                    IT 8.7
	Analyze an author’s argument, perspective or viewpoint and explain the development of key points.


Multiple Choice Question:

26. With which statement would the author most likely agree?

A. Building the Panama Canal cost more in money than it was worth.

B. France should have been responsible for completing the Panama Canal.

C. The absence of the Panama Canal almost caused the United States to lose a war.

D. Completing the Panama Canal was one of the great achievements of the 20th century.

Commentary:
This multiple-choice question asks students to read the text carefully and analyze the author’s viewpoint.  Answer choice “A” is incorrect.  Even though building the canal was expensive, as stated in paragraph 4, having a canal across Central America encouraged trade and exploration and guaranteed safe and quick passage for naval ships.  In the end, the building of the Panama Canal was more than worth the cost of building it.  Answer choice “B” is also incorrect.  There was no one country responsible for building the Panama Canal.  Initally, France took on the challenge of building the canal.  However, the French encountered problems in the building of the canal and could not afford to finish it.  Answer choice “C” is incorrect.  In paragraph 8, the passage states that during the Spanish-American War, an American naval ship had to take more than  2 months to travel around Cape Horn.  Even though this was a long time, the passage does not indicate that this delay almost caused the United States to lose the war.  Answer choice"D” is correct.  In paragraph 10, the passage states that “If America succeeded, it could control traffic between the Atlantic and the Pacific and finally bring together the two oceans.”  By reading the entire passage, the reader should know that the United States did complete the building the Panama Canal.

Performance Data:
The percent of public school students selecting answer choice D for question 26 on the March 2006 Grade 8 Reading Achievement Test was 67%.
Keywords:  author’s viewpoint, informational text

BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.2
	Identify and use the organizational structure of a text, such as chronological, compare-contrast, cause-effect, problem-solution, and evaluate its effectiveness.


Multiple Choice Question:

27. How is this passage organized?

A. Causes and effects are explored.

B. Major ideas are compared and contrasted.

C. Problems are stated and possible solutions posed.

D. Events are stated mostly in order.

Commentary:
This multiple-choice question asks students to evaluate how structures help authors achieve their purposes.  Answer choice “A” is incorrect.  While causes and effects are explored, they are explored within the chronological order of the passage.  Answer choice “B” is incorrect.  The author of this passage does not compare and contrast the choices made by the United States and France, they are simply presented.  Answer choice “C” is also incorrect.  While the problems France encountered while building the canal were certainly stated, the author did not propose any possible solutions that France could have used to solve its’ problems.  Answer choice “D” is correct.  The passage recounts the story of the building of the canal in chronological or time order.  This is evidenced by the listing of dates as each event occurred.

Performance Data:
The percent of public school students selecting answer choice D for question 27 on the March 2006 Grade 8 Reading Achievement Test was 47%.
Keywords:  Informational text, text structures

BACK TO INDEX
	Benchmark:     D
	Explain and analyze how an author appeals to an audience and develops an argument or viewpoint in text.

	GLI:                    IT 8.7
	Analyze an author’s argument, perspective or viewpoint and explain the development of key points.


Multiple Choice Question:

28. The author probably would agree that determination was the key to the success of the canal project. 

Which statement best supports this viewpoint? 

A. The idea of the canal persisted until it became a reality.

B. It took several centuries for the idea of the canal to form.

C. Most people believed that it was impossible to build the canal.

D. The completion of the canal was an important issue for national pride.

Commentary:
This multiple-choice question asks students to read the text and analyze the author’s viewpoint.  Answer choice “A” is correct.  The passage states that even though there were problems with building the canal (it was a dangerous journey, the expense was great, France could not complete the building of the canal, Colombia refused the United States’ terms) the canal was eventually built despite all of these problems.  Answer choice “B” is incorrect.  The passage states in paragraph 3 that “… for centuries, people thought about building a canal”, not that it took several centuries for the idea of a canal to form.  Answer choice “C” is incorrect.  The passage states that there were many people who believed in the possibility of a canal being built.  The passage mentions King Charles I of Spain, German scholar Alexander von Humboldt, French engineer Ferdinand de Lesseps and President Roosevelt to mention a few.  Answer choice “D” is also incorrect.  While it was a  fact that national pride was a great incentive, the canal was built because the idea of a canal persisted despite the hardships and setbacks that many people from different countries faced.

Performance Data:
The percent of public school students selecting answer choice A for question 28 on the March 2006 Grade 8 Reading Achievement Test was 45%.
Keywords:  author’s viewpoint, informational text

BACK TO INDEX
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (e.g., literal, inferential, evaluative and synthesizing).

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question:

29. State and explain one reason that building the Panama Canal remained only a dream prior to de Lesseps' proposal. Use information from the passage to support your answer. Write your answer in the Answer Document. (2 points)

Commentary:
This short-answer question asks students to read the passage and find and use information from the passage to answer the question.  This is a literal question and the answer to the question is found in the passage.  Paragraph 4 states many reasons why the building of the Panama Canal remained only a dream prior to deLesseps’ proposal.  Students are asked to choose one of these reasons and use information from the passage to support their answer.

Scoring Guidelines:
	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	2 
	The response identifies one reason the canal remained only a dream prior to de Lesseps' proposal, supported by information from the passage.
Examples:


• The lack of technology was a problem because it was a massive job that required heavy machinery and specialized tools.

• Money was a problem because building the canal was expensive and no nation was willing to gamble on such a project.

• The terrain was a problem because the mountains, rain forests, and swamps would make working conditions very difficult.

• The climate was a problem because mosquitoes and tropical diseases thrived in the heat.



	1 


	The response provides one reason, but it is not supported by information from the passage.
Examples:


• The lack of technology

• The expense of building it

• The terrain/land

• The climate/diseases


	
	1 point sample answer:




	0 


	The response indicates no understanding of the task.

	
	0 point sample answer:




Performance Data:
The percent of public school students earning each score point for question 29 on the March 2006 Grade 8 Reading Achievement Test:

	Percent at Each Score Point

	0
	
	1
	
	2

	51%
	
	25%
	
	21%


Keywords:  reading strategies, literal questions

BACK TO INDEX
Passage:

Shifting Sands

Lyn Bourdow

The carpeted holes of a miniature golf course lie buried beneath many feet of sand. Now and again, depending on how the winds blow, the turrets of a small castle that once guarded the eighth hole reappear above one edge of the massive sand dunes named Jockey’s Ridge.

Jockey’s Ridge is the largest natural sand dune system in the eastern United States. Nearly 100 feet tall and lacking vegetation, the dunes cover more than 400 acres on the thin strip of land in North Carolina known as the Outer Banks.

The sand is blown back and forth by the prevailing winds, so the dunes are always moving. In the summer, lighter southwest winds move the sands one way, then stronger winter winds from the northeast move them back again. In fact, these winds cause the dunes to move three to six feet southwest each year.

Over time, man-made structures have been no match for the shifting sands. In the late 1880s, one hotel was covered by sand before it could be completely dismantled and moved to a nearby site. More recently, the brick-lined holes of a miniature golf course were buried under the sand.

The Jockey’s Ridge dunes were originally formed when strong hurricane storm waves picked up sand from the shoals off the North Carolina coastline and deposited it on the shore. Each year the winds took it from there, and grain by grain, a series of dunes developed.

Jockey’s Ridge is a popular tourist attraction. During most of the year, the dunes are filled with visitors running up, rolling down, and hang gliding from the immense sand hills. Climbers enjoy sunrises over the ocean and sunsets over the sound at the beginning and end of each day.

The sand is hot in the summer. It can be thirty degrees hotter than the air temperature. The dunes attract many lightning strikes with their high profile along the flat shoreline. When lightning hits the sand, the temperature can reach 15,000˚C, or twice the temperature of the surface of the sun, melting the quartz sand into silica glass tubes called fulgurites, which can be as long as six feet. 

Over the last quarter of a century, Jockey’s Ridge has moved several hundred feet southwest and has begun to flatten out, threatening to bury nearby houses and roads. Scientists and local residents are studying the process carefully, trying to understand why the dunes now seem to be steadily moving and shrinking, and what should be done about it.

Many geologists believe that the dune migration is a natural process, perhaps the result of changes in wind patterns over recent years. Others believe that commercial and residential development of the barrier islands has interfered with the cycle of shifting sand on Jockey’s Ridge.

Debate continues about what to do with the moving dunes. Should at-risk areas of the dunes be fenced in, or should dump trucks be used to keep moving the sand back where people want it to be? Should plants and grass be grown on the dunes to keep them from moving, or should the dunes be allowed to go whichever way the wind blows?

While each proposal for handling the moving sands of Jockey’s Ridge has its own set of problems and issues, one thing is certain. The turrets of the castle that used to decorate the now-buried miniature golf course are an eerie reminder of the vastness and power of the moving dunes.
BACK TO INDEX
	Benchmark:     B
	Identify examples of rhetorical devices and valid and invalid inferences, and explain how authors use these devices to achieve their purposes and reach their intended audiences.

	GLI:               IT 8.5
	Assess the adequacy, accuracy and appropriateness of an author’s details, identifying persuasive techniques (e.g., bandwagon, testimonial and emotional word repetition) and examples of bias and stereotyping.


Multiple Choice Question:

37.  
The author most likely included the information in the first two paragraphs of the passage to
A. establish the significance of Jockey’s Ridge. 

B. describe how Jockey’s Ridge got its name. 

C. emphasize how quickly the sand dunes formed.     

D. prove that researchers have studied sand dunes. 



ID: 1748; Version: 7 


Commentary: 
This multiple-choice question asks students to read and think about details that authors use to explain or argue ideas. They identify different ways that authors try to convince their readers to think or feel a certain way. Authors can create introductions that establish the importance of the topic by highlighting details about it in the first paragraphs. This focuses the reader on the important issue the author wants to discuss. In the first two paragraphs of this passage, the author includes details to show why Jockey’s Ridge is important.  
· The dunes are big enough to cover a whole miniature golf course.

· The dunes are “massive.”

· The dunes are the “largest natural sand dune system in the eastern United States.”

· The dunes are “nearly 100 feet tall.”

· The dunes “cover more than 400 acres.”

Together, these details help the reader think that the dunes are important or significant.  The answer is A, “establish the significance of Jockey’s Ridge.” If a student chooses B, “describe how Jockey’s Ridge got its name,” the student may not have understood why the author included certain details. The first paragraph states that the dunes are named Jockey’s Ridge.  However, the author does not tell how Jockey’s Ridge got its name. The first two paragraphs let the reader know that the dunes at Jockey’s Ridge are the topic of this passage. If a student chooses C, “emphasize how quickly the sand dunes formed,” the student may not have understood why the author included certain details. The first two paragraphs do not mention how quickly the dunes are made. The first two paragraphs let the reader know that the dunes at
Jockey’s Ridge are the topic of this passage. If a student chooses D, “prove that researchers have studied sand dunes,” the student may not have understood why the author included certain details. The first two paragraphs, however, do not tell about the researchers who study sand dunes. The first two paragraphs do let the reader know that the dunes at Jockey’s Ridge are the topic of this passage.  

Performance Data:

The percent of public school students selecting answer choice A for question 37 on the March 2005 Grade 8 Reading Achievement Test was 53%.

Keywords:  informational text, rhetorical devices

BACK TO INDEX
	Benchmark:     C
	Analyze whether graphics supplement textual information and promote the author’s purpose.

	GLI:                 IT 8.4
	Analyze information found in maps, charts, tables, graphs, diagrams, cutaways and overlays.


Multiple Choice Question:

38.   
Which statement is best supported by the picture on page 20? [refers to mostly submerged castle turret]

A. Winds cause the dunes to move three to six feet each year. 

B. Jockey’s Ridge is located in an area known as the Outer Banks. 
C. Buildings have been no match for the massive sand dunes. 
D. The Jockey’s Ridge dunes were formed from sand deposited by hurricane winds. 



ID: 2383; Version: 5 


Commentary: 
This multiple-choice question asks students to analyze, or think through, information that is shown graphically or visually. Pictures or illustrations can visually represent the information presented in the text of the passage or can add information that can be used to clarify the text of the passage. To answer this question correctly, students need to be able to link the information in the passage to the illustration. Looking at this picture, readers can see how big the sand dunes are. They have almost completely covered the castle, which is “no match” for the sand.  The last sentence of the passage further emphasizes the force of the sand dunes: “ The turrets of the castle that used to decorate the now-buried miniature golf course are an eerie reminder of the vastness and power of the moving dunes. The correct answer is C, “Buildings have been no match for the massive sand dunes.” If a student chooses A, “Winds cause the dunes to move three to six feet each year,” the student may not have thought carefully about the picture or the student may not know how to link the information in the passage to the picture. The student might have selected choice A because the picture shows the result of the wind’s movement, and the passage talks about the moving sand. The picture does not show, however, the process of the dunes moving three to six feet each year. It shows the castle covered by the sand dunes.  If 
a student chooses B, “Jockey’s Ridge is located in an area know as the Outer Banks,” the student may not have thought carefully about the picture or the student may not know how to link the information in the passage to the picture.  Although Jockey’s Ridge is located in the Outer Banks, that fact is not illustrated by the picture. The picture shows the castle covered by the sand dunes. If a student chooses D, “The Jockey’s Ridge dunes were formed from sand deposited by hurricane winds,” the student may not know how to link the information in the passage to the picture. It shows a calm day, not a stormy day.  No evidence of “hurricane winds” appears in the illustration. The picture shows the castle covered by sand dunes.
Performance Data:

The percent of public school students selecting answer choice C for question 38 on the March 2005 Grade 8 Reading Achievement Test was 62%.

Keywords:  informational text, graphics
BACK TO INDEX
	Benchmark:     A
	Apply reading comprehension strategies to understand grade-appropriate text.

	GLI:             RP 8.1
	Apply reading comprehension strategies, including making predictions, comparing and contrasting, recalling and summarizing and making inferences and drawing conclusions. 


Multiple Choice Question:
39.   What is this passage mostly about?
A. what happens when lightning strikes along a shoreline 
B. the history and uncertain future of a sand dune system 

C. how a miniature golf course disappeared under a sand dune 
D. the effects of summer and winter winds on a coastal community 



ID: 1746; Version: 3 
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Commentary: 
This multiple-choice question asks students to know and use reading strategies. The two strategies students need are recalling and summarizing. Recalling is remembering facts or ideas. Remembering the important facts, topics and ideas in a passage helps readers think about and remember what they read. Summarizing is condensing the main ideas, topics or events of a text.  A summary includes the important ideas, so it is shorter than the original passage. To tell what a passage is mostly about, students have to think about the topic that is discussed throughout the whole passage. Most paragraphs in the passage “Shifting Sands” talk about the moving sand dunes of Jockey’s Ridge. The title shows that the passage is about sand and its movements or changes. The author discusses the history of the sand dunes and how they were created. Finally, the last paragraphs talk about how there is currently no solution for the problem of the moving dunes. The correct answer is B, “the history and uncertain future of a sand dune system.”  If a student chooses A, “what happens when lightning strikes along a shoreline,” the student may not know how to tell what a passage is mostly about. Lightning is
addressed in the passage, but it is not what the passage is mostly about.  Most paragraphs in
the passage talk about the moving sand dunes of Jockey’s Ridge. If a student chooses C, “how
 a miniature golf course disappeared under a sand dune,” the student may not know how to tell what a passage is mostly about. The miniature golf course is discussed in the passage, but it is not what the passage is mostly about. Most paragraphs in the passage talk about the moving sand dunes of Jockey’s Ridge. If a student chooses D, “the effects of summer and winter winds on a coastal community,” the student may not know how to tell what a passage is mostly about.  The passage does address what winds do to the dunes, but it is not what the passage is mostly about. Most paragraphs in the passage talk about moving sand dunes of Jockey’s Ridge.
Performance Data:

The percent of public school students selecting answer choice B for question 39 on the March 2005 Grade 8 Reading Achievement Test was 69%.

Keywords:  recall, summary
BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                   AV 8.1
	Define unknown words through context clues and the author’s use of comparison, contrast and cause and effect.


Multiple Choice Question:

40.    “The dunes attract many lightning strikes with their high profile along the flat shoreline.”
   What does the author mean when she describes the dunes as having a high profile?

A. They are well-known by many famous people. 

B. They are taller than other objects in the area. 

C. Their dampness attracts powerful electrical charges. 

D. Their outline is visible from a distance along the beach. 



ID: 2075; Version: 6 


Commentary: 
This multiple-choice question asks students to use context clues, or the words and sentences around words, to define words they do not know. Authors often provide clues to help readers figure out the meaning of unknown words. For example, the following sentence contains the word anxious: “The boy was anxious; he was wringing his hands and wiping at the sweat on his brow, thinking about his upcoming baseball game.” The context clues around the word anxious tell the reader that anxious means nervous. To answer this question correctly, students need to use context clues surrounding the phrase “high profile” and read the passage carefully. In the passage, the dunes are described as almost 100 feet tall ( paragraph 2) and as “immense sand hills” (paragraph 6). The correct answer is B, “They are taller than other objects in the area.” If a student chooses A, “They are well-known by many famous people.” the student may not have understood the context clues surrounding the phrase “high profile.” The sentence cited in the question does not say anything abut the dunes being “well-known.” However, in the passage,
the dunes are described as almost 100 feet tall (paragraph 2) and as “immense sand hills” (paragraph 6). If a student chooses C, “Their dampness attracts powerful electrical charges.” the student may not have understood the context clues surrounding the phrase “high profile.”  The passage does not suggest that the dunes are damp or that dampness attracts lightning.  However, in the passage, the dunes are described as almost 100 feet tall (paragraph 2) and as “immense sand hills” (paragraph 6).  If a student choose D, “Their outline is visible from a distance along the beach,” the student may not have understood the context clues surrounding the phrase “high profile.” A profile can be an outline, such as the outline of someone’s face who is turned to the side. However, in the passage, the dunes are described as almost 100 feet tall (paragraph 2) and as “immense as sand hills” (paragraph 6).
Performance Data:

The percent of public school students selecting answer choice B for question 40 on the March 2005 Grade 8 Reading Achievement was 47%.

Keywords:  vocabulary, context clues

BACK TO INDEX
	Benchmark:     D
	Explain and analyze how an author appeals to an audience and develops an argument or viewpoint in text.

	GLI:                    IT 8.7
	Analyze an author’s argument, perspective or viewpoint and explain the development of key points.


Extended Response Question:

41.  
What are two theories about the shifting of sands on Jockey's Ridge?  Using information from the passage, describe two possible solutions to the problem of sand migration. Write your answer in the Answer Document. (4 points)
Commentary:

This extended-response question asks students to explain the development of key points, or important ideas, in a passage. To do this, students need to determine which ideas are theories and which ideas are solutions. This question has two parts. The first part asks students to name two theories about why the sands on Jockey’s Ridge move. The second part asks students to name two possible solutions to the problems caused by the movement of the sands.  To answer this question, students must read the passage carefully, especially paragraphs 9 and 10.  Paragraph 9 describes two theories about the movement of the sands (recent changes in wind patterns and commercial and residential development), and paragraph 10 provides four possible solutions to the problems caused by the sand (fencing, moving the sand back, planting grass and plants and letting it go).

Performance Data:

The percent of public school students earning each score point for question 41 on the March 2005 Grade 8 Reading Achievement was:

	Percent at Each Score Point

	0
	
	1
	
	2
	
	3
	
	4

	23%
	
	18%
	
	22%
	
	11%
	
	20%


Scoring Guidelines:

4 point text

The response provides two different theories about the shifting sands and offers two possible text-based solutions to the problem.

Example:  

Theories:

· One theory is that the wind patterns have changed in recent years and caused the sands to shift.

· Another theory is that commercial and residential development have caused the shifting to be greater.
Solutions:

· One solution would be to let the sands go wherever the wind takes them.   

· Another solution might be to plant trees and grass in the threatened areas to keep the sand from shifting. 

· Another solution is to build fences. 

· Another solution is to use dump trucks to return the sand.

3 point text
The response provides any combination of two theories and one solution OR one theory and two solutions regarding the shifting of sands.


2 point text
The response provides any combination of two theories OR two solutions OR one theory and one solution regarding the shifting of sands.

1 point text
The response provides one theory OR one solution regarding the shifting of sands.

0 point text
The response indicates no understanding of the task. 

Keywords:  informational text, author’s argument

BACK TO INDEX
	Benchmark:     B
	Identify examples of rhetorical devices and valid and invalid inferences and explain how authors use these devices to achieve their purposes and reach their intended audiences.

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
42. 
What was the most likely reason for including the information about fulgurites in this passage?

A. to warn readers of a danger at the sand dunes 
B. to explain why the sand is so hot in the summer 
C. to prove the sand dunes should be left undisturbed 
D. to describe an unusual phenomenon in the sand dunes 
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Commentary: 
This multiple-choice question asks students to read and think about the details that authors use to explain or argue ideas. Students think about the relationship of details and facts to the main idea: whether they support the main idea or whether they add interesting information that does not directly develop the main idea. To answer this question correctly, students need to refer to paragraph 7. In this paragraph, the author discusses fulgurites and mentions their creation as an unusual occurrence in the sand dunes. The correct answer is D, “to describe an unusual phenomenon in the sand dunes.” If a student chooses A, “to warn readers of a danger in the sand dunes,” the student may not have understood the passage. In paragraph 7, where the author discusses fulgurites and how they are created, there is no mention of danger. The author presents fulgurites as an unusual occurrence in the sand dunes. If a student chooses B, “to explain why the sand is so hot in the summer, “the student may not have understood the passage. The author mentions the heat of the sand, but does not explain the fulgurites. Rather, the author mentions the creation of fulgurites as an unusual occurrence in the sand dunes.  If a student chooses C, “to prove the sand dunes should be left undisturbed,” the student may not have understood the passage. Paragraph 7 does not say anything about leaving the sand dunes undisturbed. The author mentions the creating of fulgurites as an unusual occurrence in the sand dunes.
Performance Data:

The percent of public school students selecting answer choice D for question 42 on the March 2005 Grade 8 Reading Achievement was 45%.

Keywords:  rhetorical devices, author’s argument
BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.2
	Identify and use the organizational structure of a text, such as chronological, compare-contrast, cause-effect, problem-solution, and evaluate its effectiveness.


Multiple Choice Question:

43.    How is the information in this passage organized? 
A. A theory of how sand dunes were formed is followed by factual evidence. 

B. An opinion about managing sand dunes is supported with researched facts. 

C. An explanation of problems related to sand dune migration is followed by possible solutions. 

D. A description of methods used to control sand dunes is presented in chronological order. 
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Commentary: 

This multiple-choice question asks students to identify the way informational text is organized.  In this passage, it is organized by problem and solution. Problem and solution order occurs when the author describes a problem and then names some solutions for that problem.  Students should use the organization of ideas in texts to find and think about information presented in the passage. This passage talks about the problems that moving sand causes and possible ways to solve these problems. Paragraph 1 describes the castle that is under the sand.   Paragraph 3 describes the movement of the sand. Paragraph 9 explains possibilities why the sands have moved, and paragraph 10 lists possible solutions to the problem. The correct answer is C, “An explanation of problems related to sand dune migration is followed by possible solutions.” If a student chooses A, “A theory of how sand dunes were formed is followed by factual evidence,” the student may not have followed the way the ideas are organized. The author does not organize the passage around a theory and facts about how sand dunes were made.  She describes the creating of sand dunes in paragraph 5 and does not provide any evidence of proof in support of her description. The passage is mostly about the problems that moving sand causes and possible ways to solve these problems. If a student chooses B, “An opinion about managing sand dunes is supported with researched facts,” the student may not have followed the way the ideas are organized. The author does not give an opinion about how the problem of the sand dunes should be solved. However, she does talk about the problems that moving sand causes and mentions possible ways to solve these problems. If a student chooses D, “A description of methods used to control sand dunes is presented in chronological order,” the student may not have followed the way the ideas are organized. The author does mention methods used to control sand dunes; however, these come at the end of the passage, and they are not presented in chronological order (a sequence of events in time). The passage does talk about the problems that moving sand causes and possible ways to solve these problems.

Performance Data:

The percent of public school students selecting answer choice C for question 43 on the March 2005 Grade 8 Reading Achievement Test was 51%.

Keywords:  organizational structure, informational text
BACK TO INDEX
	Benchmark:     D
	Explain and analyze how an author appeals to an audience and develops an argument or viewpoint in text.

	GLI:                          IT 8.6
	Identify the author’s purpose and intended audience for the text.


Multiple Choice Question:

44. The author most likely wrote this passage to 

A. explain the potential dangers of natural events. 

B. criticize the developers who build on Jockey’s Ridge. 

C. attract tourists to the Outer Banks of North Carolina. 

D. describe how an act of nature can have far-reaching effects. 

E. 
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Commentary: 
This multiple-choice question asks students to determine the main topics of the passage and identify the author’s purpose for writing. To answer this question correctly, students need to consider the entire passage and determine the author’s main purpose for writing it. The passage shows how the movement of sand dunes can change the shape of the land, cover buildings and influence people’s lives. The correct answer is D, “describe how an act of nature can have far-reaching effects.” If a student chooses A, “explain the potential dangers of natural events,” the student may not have understood the author’s likely purpose for writing the passage. The author does not describe the movement of the dunes as dangerous. Instead, the passage shows how the movement of sand dunes can change the shape of the land, cover buildings and influence people’s lives.  If a student chooses B, “criticize the developers who build on Jockey’s Ridge,” the student may not have understood the author’s likely purpose for writing the passage. In paragraph 9, the author notes that some geologists “believe that commercial and residential development of the barrier islands has not interfered with the cycle of shifting sand on Jockey’s Ridge.”  However, this is not necessarily the belief of the author. The author does write about how the movement of sand dunes can change the shape of the land, cover buildings and influence people’s lives. If a student chooses C, “attract tourists to the Outer Banks of North Carolina,” the student may not have understood the author’s likely purpose for writing the passage. In paragraph 6, the author notes that “Jockey’s Ridge is a popular tourist attraction.”  However, she makes no other reference to tourism. Instead, the passage shows how the movement of sand dunes can change the shape of the land, cover buildings and influence people’s lives.
Performance Data:

The percent of public school students selecting answer choice D for question 44 on the March 2005 Grade 8 Reading Achievement Test was 61%.

Keywords:  informational text, author’s purpose
BACK TO INDEX
Passage:

Silent Picture Shows

1
Thomas Alva Edison set the movie industry in motion. The inventor himself was not all that impressed with the concept of motion pictures; he figured the novelty would quickly wear off. How wrong he was!

Film Fascinates

2
The first “moving” pictures in 1889 were peep shows viewed through Edison’s Kinetoscope. A length of film revolved on spools inside a cabinet. When a coin was dropped into a slot, an electric light shone on the film. The viewer watched the film through a peephole just big enough for the human eye. The films were about fifty feet in length and ran for less than a minute. Some early Edison films featured a dog with a bone, a baby being bathed, dances, and vaudeville
[image: image3.wmf]1

 scenes.

3
By 1908, the American public had become fascinated with the idea of movies, and nickelodeons were being built all over the country. Although these early motion picture theaters lacked the luxuries of today’s plush theaters in mall settings, the magic of Hollywood was perhaps even more alive in those early days than it is now because of its novelty. And although sound had not been invented, moviegoers used their imaginations to supply the dialogue to the events taking place before them on the screen. The era of the silent movie had begun.

Laughter Sells
4
It didn’t take producers long to discover which genres worked well in silent films, Comedy became popular early in the industry’s development. The Keystone Kops featured fast-paced, slapstick humor and often violent action; typical escapades included the pie in the face, the wild car chase scene, and wild animals on the loose. Actor/producer Mack Sennett came to Los Angeles in 1912 to work for the Keystone Company, Sennett gave many comedians their start in films, including Charlie Chaplin and Buster Keaton.

5
Charles Spencer Chaplin became the most recognized film figure in the world during the era of the silent movie. Chaplin added depth of character and plot structure to the developing art form, rather than relying on simple gags and gimmicks for laughs. His tramp
[image: image4.wmf]2

 character, for which he became famous, first appeared in Kid Auto Races at Venice (1914). The tramp’s costume was appealing and immediately identifiable—the too-big shoes and pants, the formal vest, and the too-small coat. The derby hat, which he doffed
[image: image5.wmf]3

 to all he met, contrasted with his funny moustache, and it, too, became a trademark of the little tramp’s character. Some of Chaplin’s most famous movies included The Kid (1920), The Gold Rush (1925), and City Lights (1931).

6
Chaplin’s biggest rival was Buster Keaton, who began in films in 1917. Keaton capitalized on dream sequences and trick photography to enhance his art. In two of his best films, The Navigator (1924) and The General (1926), Keaton dealt with the same theme—the individual pitting his will against an inanimate
[image: image6.wmf]4

 object. It was the theme that worked the best for him, and he made the most of it.

7
Stan Laurel and Oliver Hardy are probably the most memorable team in the history of silent films. Actually, they entered the industry separately; it wasn’t until 1927 that they began to work as a team. Incompetence ruled their world and endeared them to their audiences. In The Music Box (1932), the two struggle valiantly to get a piano up a flight of stairs half a mountain high, only to succeed in destroying everything in their path. Two of the best-known Laurel and Hardy film, Our Relations and Way Out West were produced after the advent of sound. The two made the transition to sound more effectively than either Chaplin or Keaton.

Talkies Emerge

8
By 1929 the silent film era was nearing its end. The technology for “talkies” had been developed, and silent-screen stars were frantically studying voice and diction
[image: image7.wmf]5

 in an attempt to make the transition. The majority of theaters throughout the country had been wired for sound. Silent pictures were about to become film history.

BACK TO INDEX
	Benchmark:     C
	Analyze whether graphics supplement textual information and promote the author’s purpose.

	GLI:                 IT 8.4
	Analyze information found in maps, charts, tables, graphs, diagrams, cutaways and overlays.


Multiple Choice Question:

37. Which could appropriately explain how the film industry changed between 1889 and the early 1930s?

A. a list of silent films released during the time period

B. a graph of the number of silent films released each year

C. a timeline showing major technological developments

D. a table comparing the movies of the most popular actors
Commentary:
This multiple-choice question asks students to read the passage carefully and pay close attention to the details of the passage. It also asks students to read the question and analyze the passage to determine whether a graphic would be helpful in understanding the passage. In order to show how things changed what new technology was invented that would change the film industry, a timeline would be the best graphic. The correct answer choice is “C.” Answer choice “A” is incorrect. A list of silent films would not show the changes that the film industry experienced during these years. Answer choice “B” is incorrect. A graph, which is a drawing or diagram that shows a relationship between sets of things, would not be the best graphic to explain how the film industry changed. Answer choice “D” is also incorrect. A table comparing movies would not reflect changes.

Performance Data:
The percent of public school students selecting answer choice C for question 37 on the May 2007 Grade 8 Reading Achievement was 54%.
Keywords:   analyzing graphics

BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.1
	Compare and contrast text features, including format and headers of various informational texts in terms of their structure and purpose.


Multiple Choice Question:

38. Why does the author include dates in parentheses following the names of movies in paragraphs 5 and 6?

A. to emphasize the current age of the movies

B. to be sure that the movies are named in chronological order

C. to identify the year in which each movie was released

D. to show how much time elapsed between the release of the movies

Commentary:
This multiple-choice question asks students to read the passage carefully and determine how features and characteristics of text make information accessible for readers. The author includes the dates of the movies in parentheses to inform the reader of the year the movie was released. The correct answer choice is “C.” Answer choice “A” is incorrect. The dates following the movies are not the current age of the movies. Answer choice “B” is incorrect. The dates following the movies are not provided in order to name the movies in chronological order. Answer choice “D” is also incorrect. The dates following the movies are not provided to show how much time elapsed between the release of the movies.

Performance Data:
The percent of public school students selecting answer choice C for question 38 on the May 2007 Grade 8 Reading Achievement was 61%.
Keywords:   text features

BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.2
	Identify and use the organizational structure of a text, such as chronological, compare-contrast, cause-effect, problem-solution, and evaluate its effectiveness.


Multiple Choice Question:

39. “Silent Picture Shows” uses which overall organizational structure?

A. comparison and contrast

B. problem and solution

C. chronology of events

D. order of importance

Commentary:
This multiple-choice question asks students to read the passage carefully and determine how features and characteristics of text make information accessible for readers. The organizational structure of a text is important to a reader’s overall comprehension of that text. Since this passage gives information about the development of the film industry, arranging the text in chronological order, or in the order in which the events occur in time, is the best organizational structure for this passage. The correct answer choice is “C.” Answer choice “A” is incorrect. The organizational structure of this passage is not comparison and contrast. The text does not present a description of similarities and differences among two or more things. The text is arranged in chronological order, or in the order in which the events occurred in time.  Answer choice “B” is incorrect. The text is not organized in a way in which events and their causes are a result or solution of a perceived need or problem. Answer choice “D” is also incorrect. Events are not arranged in the order of importance, but rather by chronological order, or in the order in which the events occurred in time.

Performance Data:
The percent of public school students selecting answer choice C for question 39 on the May 2007 Grade 8 Reading Achievement was 44%.

Keywords:  organizational structures

BACK TO INDEX
	Benchmark:     A
	Apply reading comprehension strategies to understand grade-appropriate text.

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

40. The films of Charlie Chaplin differed from most other films of his time in which way?

A. His films had plots that were developed through dream sequences and trick photography.

B. His films featured the humorous appearance and actions of a character in a costume.

C. His films were based on the conflict between people and inanimate objects.

D. His films included more fully developed characters and clearly defined plots.
Commentary:
This multiple-choice question asks students to read the passage carefully and recall the events in the passage. The passage states in paragraph 5, “Chaplin added depth of character and plot structure to the developing art form rather than relying on simple gags and gimmicks for laughs.” The correct answer choice is “D.” Answer choice “A” is incorrect. While the passage does talk about the development of film using dream sequences and trick photography, this is attributed to Buster Keaton, not Charles Chaplin. The passage states in paragraph 6 that, “Keaton capitalized on dream sequences and trick photography to enhance his art”. Answer choice “B” is incorrect. While it is true that Charlie Chaplin films featured his tramp costume and funny moustache, many of the other silent films of this period featured humorous characters in costume also. These things are not sufficient enough to distinguish his films from others. Answer choice “C” is also incorrect. While the author does mention the conflict between people and inanimate objects, this conflict is used to describe Buster Keaton movies, not the movies of Charlie Chaplin. The author states in paragraph 6 that, “ In two of his best films,The Navigator (1924) and The General (1926),Keaton dealt with the same theme-the individual pitting his will against an inanimate object”.

Performance Data:
The percent of public school students selecting answer choice D for question 40 on the May 2007 Grade 8 Reading Achievement was 33%.
Keywords:  recall
BACK TO INDEX
	Benchmark:     D
	Explain how different events have influenced and changed the English language.

	GLI:                   AV 8.5
	Examine and discuss the ways that different events (e.g., cultural, political, social, technological, and scientific events) impact and change the English language.


Short Answer Question:

41. According to the dictionary, the word “talkie” entered the English language in the early 1900s. Explain what a “talkie” was and how the film industry helped introduce this word to the English language. Write your answer in the Answer Document.      (2 points)
Commentary:
This short-answer question asks students to read the passage carefully and think about the significance of the development of film and how this event influenced and changed the English language. In answering this question, it is important for students to answer both parts of the question to receive 2 points. Students must define “talkie” and explain how the film industry helped introduce the word to the English language. From reading the passage, students should be able to define “talkie” as a movie in which characters talked and explain that when sound was introduced to the movies, movies could no longer be called “silent pictures,” so they were called “talkies” instead.

Performance Data:
The percent of public school students earning each score point for question 41 on the May 2007 Grade 8 Reading Achievement):
	Percent at Each Score Point

	0
	
	1
	
	2

	34%
	
	33%
	
	33%


Scoring Guidelines:

	Points 
	Student Response 

	2 point 
	The response is complete and accurate. It defines “talkie” and explains how the film industry helped introduce the word to the English language. 

Example: Movies in which characters talked (with sound) were called “talkies’ in contrast to movies that had no sound, which were called silent movies. When sound was introduced to the movies, movies could no longer be called “silent pictures,” so they were called “talkies” instead. 

	1 point 
	The response is partial and accurate. It defines “talkie” but does not explain how the film industry helped introduce the word to the English language OR it explains how the industry introduced the word but does not clearly define the word. 

	0 point 
	The response indicates no understanding of the task. 


Keywords:  changes in the English language
BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                   AV 8.1
	Define unknown words through context clues and the author’s use of comparison, contrast and cause and effect.


Multiple Choice Question:

42. “Keaton capitalized on dream sequences and trick photography to enhance his art. In two of his best films, The Navigator (1924) and The General (1926), Keaton dealt with the same theme—the individual pitting his will against an inanimate object. It was the theme that worked the best for him, and he made the most of it.” In these sentences, what does capitalized mean?

A. improved on something

B. thought about something

C. struggled against something

D. took advantage of something
Commentary:
This multiple-choice question asks students to read the passage carefully and focus on the word capitalized and how it is used in the excerpt in the question. In this excerpt, the author is stating that Keaton took advantage of the two techniques of dream sequences and trick photography in his most successful movies. When a person capitalizes on something, he or she profits from something or is successful because of something. The correct answer choice is “D.” Answer choice “A” is incorrect. The passage states that “Keaton capitalized on dream sequences and trick photography to enhance his art”, it does not state that he improved on it. Answer choice “B” is incorrect. Keaton did use the techniques of dream sequences and trick photography in his films, the passage does not say that he thought about using the techniques. Answer choice “C” is also incorrect. Keaton did not struggle against using the techniques of dream sequences and trick photography in his films. He used them and enjoyed great success because of them.

Performance Data:
The percent of public school students selecting answer choice D for question 42 on the May Grade 8 Reading Achievement was 41%.
Keywords:  context clues
BACK TO INDEX
	Benchmark:     D
	Explain and analyze how an author appeals to an audience and develops an argument or viewpoint in text.

	GLI:                    IT 8.7
	Analyze an author’s argument, perspective or viewpoint and explain the development of key points.


Multiple Choice Question:

43. According to the passage, with which statement would the author most likely agree?

A. Talking films lacked the depth of the silent movies.

B. Silent movies revolutionized the entertainment industry.

C. Acting skills were less important in silent films than in modern ones.

D. Silent pictures became useless when talking films were introduced.
Commentary:
This multiple-choice question asks students to read the passage carefully and analyze the author’s viewpoint. As students read the passage, they should be able to know, by the words the author uses, how the author feels about his or her subject matter. The author either states how he or she feels directly or the author’s feelings can be inferred by the reader. The author talks about the development of the silent film industry to show many different and interesting things about the films and the actors who were in them. All of the information that the author conveys to the reader about silent films lets the reader know that the silent film industry revolutionized the entertainment industry. The correct answer choice is “B.” Answer choice “A” is incorrect. The author does not feel that talking films lacked the depth of the silent movies. In paragraph 8, the author states, “The technology for ‘talkies’ had been developed, and silent-screen stars were frantically studying voice and diction in an attempt to make the transition”. The author goes on to say that the silent picture era was ending. Answer choice “C” is incorrect. The author would not agree with the statement that “Acting skills were less important in silent films than in modern ones”. In paragraphs 5-7, the author talks about what good actors Chaplin, Keaton and Laurel and Hardy were. The author thinks that silent picture actors were very talented. Answer choice “D” is also incorrect. The author does not think silent pictures became useless when talking films were introduced. The author talks about the silent film industry and actors to show how important they were to the development of modern talking pictures.

Performance Data:
The percent of public school students selecting answer choice B for question 43 on the May 2007 Grade 8 Reading Achievement was 46%.
Keywords:  author’s argument or viewpoint
BACK TO INDEX
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (e.g., literal, inferential, evaluative and synthesizing).

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

44. Which detail from the passage suggests that silent movies may have been as stimulating as the early talking pictures?

A. “... moviegoers used their imaginations to supply the dialogue to the events taking place before them on the screen.”

B. “It didn’t take producers long to discover which genres worked well in silent films.”

C. “Chaplin added depth of character and plot structure to the developing art form ...”

D. “Keaton capitalized on dream sequences and trick photography to enhance his art.
Commentary:
This multiple-choice question asks students to read the passage carefully and pay close attention to the details in the passage. In answering this question, students are answering a straight-forward literal question and the answer should be found easily in the passage. In paragraph 3 the author states, “And although sound had not been invented, moviegoers used their imagination to supply the dialogue to the events taking place before them on the screen”. The author does feel that silent movies may have been as stimulating as the early talking pictures. The correct answer choice is “A.” Answer choice “B” is incorrect. Even though this statement may be true, it does not explain why silent movies were as interesting as the talking pictures. Answer choice “C” is incorrect. While this statement comes from paragraph 5 of the passage, in this paragraph the author is talking about the growth of the silent film industry only and not about talking pictures. It does not explain why silent pictures may have been just as stimulating as talking pictures. Answer choice “D” is also incorrect. While this statement does come from paragraph 6 of the passage, the author is talking only about Keaton’s work on silent films and not about talking pictures. This statement does not explain why silent pictures may have been just as interesting to people as the talking pictures.
Performance Data:
The percent of public school students selecting answer choice A for question 44 on the March 2007 Grade 8 Reading Achievement) was 56%.
Keywords:  evaluative questions
BACK TO INDEX
Passage:

An Excerpt from John Glenn: A Memoir
1  This was something I had been looking forward to, a sunset in space. All my life I have remembered particularly beautiful sunrises or sunsets; in the Pacific islands in World War II; the glow in the haze layer in northern China; the two thunderheads out over the Atlantic with the sun silhouetting them the morning of Gus’s1 launch. I’ve mentally collected them, as an art collector remembers visits to a gallery full of Picassos, Michelangelos, or Rembrandts. Wonderful as man-made art may be, it cannot compare in my mind to sunsets and sunrises. Here on Earth we see the beautiful reds, oranges, and yellows with a luminous quality that no film can fully capture. What would it be like in space?
2  It was even more spectacular than I imagined, and different in that the sunlight coming through the prism of Earth’s atmosphere seemed to break out the whole spectrum, not just the colors at the red end but the greens, blues, indigos, and violets at the other. It made spectacular an understatement for the few seconds’ view. From my orbiting front porch, the setting sun that would have lingered during a long Earthly twilight sank eighteen times as fast. The sun was fully round and as white as a brilliant arc light, and then it swiftly disappeared and seemed to melt into a long thin line of rainbow brilliant radiance along the curve of the horizon.
3  I added my first sunset from space to my collection.
4  I reported to the capcom2 aboard the ship, the Ocean Sentry, in the Indian Ocean that was my fifth tracking link, “The sunset was beautiful. I still have a brilliant blue band clear across the horizon, almost covering the whole window.”
5  “The sky above is absolutely black, completely black, I can see stars up above.”
6  Flying on, I could see the night horizon, the roundness of the darkened Earth, and the light of the moon on the clouds below. I needed the periscope to see the moon coming up behind me. I began to search the sky for constellations.
7  Gordo Cooper’s familiar voice came over the headset as Friendship 7 neared Australia. He was the capcom at the station at Muchea, on the west coast just north of Perth. “That sure was a short day,” I told him.

BACK TO INDEX
	Benchmark:     D
	Explain and analyze how an author appeals to an audience and develops an  argument or viewpoint in text.

	GLI:                          IT 8.6
	Identify the author’s purpose and intended audience for the text.


Multiple Choice Question:

31. John Glenn intended this passage to be read by which group?
A. scientists studying aeronautics

B. capcoms stationed around the world

C. art dealers looking for unusual photographs

D. people interested in experiences of space flight

Commentary:
This multiple-choice question asks students to read the passage carefully and think about the author’s intended audience. Even though space and space travel are highly technical fields of study, in this passage John Glenn tells the reader about his personal feelings and experiences. In paragraph 2 when John Glenn describes the sunset, he does not speak of it in scientific terms. He states, “It was even more spectacular that I imagined, and different in that the sunlight coming through the prism of Earth’s atmosphere seemed to break out the whole spectrum, not just the colors at the red end but the greens, blues, indigos and violets at the other. It made spectacular an understatement…” John Glenn speaks to the reader in such a way that those not familiar with the technical aspects of space travel can still enjoy his experience. Answer choice “D” is correct. Answer choice “A” is incorrect. While this passage would be understood and enjoyed by scientists studying aeronautics, the passage does not focus on the science aspect of space travel. Answer choice “B” is incorrect. This passage does not focus on the role of information collection in space travel. Answer choice “C” is also incorrect. This passage does not focus on the art aspect of space travel.

Performance Data:

The percent of public school students selecting answer choice for question 31 on the May 2008 Grade 8 Reading Achievement was 74%.

Keywords:  author’s audience, author’s viewpoint

BACK TO INDEX
	Benchmark:     C
	Recognize the importance and function of figurative language.

	GLI:                      RP 8.3
	Monitor own comprehension by adjusting speed to fit the purpose, or by skimming, scanning, reading on, looking back, note taking or summarizing what has been read so far in text.


Multiple Choice Question:

32. John Glenn wrote, “I added my first sunset from space to my collection.”

To what does the collection refer?

A. his memories

B. an art gallery

C. his photographs

D. a scientific record

Commentary:
This multiple-choice question asks students to read the passage carefully and pay close attention to the context that surrounds the word collection. In the passage, the word collection appears in paragraph 3. In paragraph 2, John Glenn is describing his viewing of a sunset from space and the memories that he will forever have in his mind of that sunset.  In paragraph1, John Glenn states, “Wonderful as man-made art may be, it cannot compare in my mind to sunsets and sunrises.” This sentence also lets the reader know that he is not referring to art collecting but the memories he has of his first sunset from space. Answer choice “A” is correct. Answer choice B is incorrect. John Glenn is not referring to his prior mention of art collecting in paragraph 1, but rather his own memories of his first space sunset. Answer choice “C” is incorrect because John Glenn is not referring to capturing the sunset on film; he is referring to his own personal memories. Answer choice “D” is also incorrect because John Glenn is not referring to the duty an astronaut has of recording data but rather to his own personal memories.

Performance Data:
The percent of public school students selecting answer choice for question 32 on the May 2008 Grade 8 Reading Achievement was 81%.

Keywords:  figurative language, reading strategy

BACK TO INDEX
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (e.g., literal, inferential, evaluative and synthesizing).

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

33. The passage portrays John Glenn in which way?

A. cautious

B. lonely

C. orderly

D. sensitive

Commentary:
This multiple-choice question asks students to read the passage carefully and think about the words and phrases used to describe John Glenn. The author uses descriptive language which portrays John Glenn as a very sensitive man as he experiences his first sunset space. In paragraph 2, John Glenn describes the view of his first sunset in the following manner, “It made spectacular an understatement for the few seconds’ view.” He also describes the sun as “…white as a brilliant arc light, and then it swiftly disappeared and seemed to melt into a long thin line of rainbow brilliant radiance along the curve of the horizon.” These words clearly show that John Glenn is aware of and sensitive to just how wonderful the sight of the sunset in space is. Answer choice “D” is correct. Answer choice “A” is incorrect. Although being an astronaut can be dangerous work, the passage did not focus on this aspect of John Glenn’s journey and does not talk about the caution that astronauts must use in their work. Answer choice “B” is incorrect because the passage does not state or imply that John Glenn is lonely. The passage focuses on John Glenn’s wonderment at seeing his first sunset in space. Answer choice “C” is also incorrect. Although having a sense of order is a trait that astronauts need, the passage does address this idea. 

Performance Data:
The percent of public school students selecting answer choice “D” for question 33 on the May 2008 Grade 8 Reading Achievement was 59%.

Keywords:  plot, reading strategy
BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.2
	Identify and use the organizational structure of a text, such as chronological, compare-contrast, cause-effect, problem-solution, and evaluate its effectiveness.


Multiple Choice Question:

34. Which is the overall organization of this passage?

A. a list of scientific observations

B. a series of details in order of importance

C. a personal opinion supported with evidence

D. a process for performing a series of tasks 

Commentary:
This multiple-choice question asks students to read the passage, paying close attention to the organization of the passage. When an author organizes the details of a passage clearly and concisely, it helps readers grasp the author’s intent. There are several methods of organization from which an author can choose. In this particular passage, John Glenn wants to convey to the reader the beauty and wonderment he experienced from witnessing his first sunset in space. The best way to do that would be to tell the reader his personal opinion about how he felt.  Upon viewing his first space sunset, he describes it as “spectacular”. He then goes on to provide evidence and to tell why he felt it was “spectacular”. He describes it in this way, “The sun was fully round and as white as a brilliant arc light, and then it swiftly disappeared and seemed to melt into a long line of rainbow brilliant radiance along the curve of the horizon.” Answer choice “C” is correct. Answer choice “A” is incorrect. The passage does not list scientific observations that John Glenn made but rather it describes the beauty of his first space sunset. Answer choice “B” is incorrect. The passage does not list a series of details in order of importance; Glenn simply shares his reaction to the sunset. Answer choice “D” is also incorrect. The passage does not instruct the reader how to perform a series of tasks.

Performance Data:
The percent of public school students selecting answer choice for question 34 on the May 2008 Grade 8 Reading Achievement was 53%.

Keywords:  author’s details, methods of organization

BACK TO INDEX
	Benchmark:     A
	Apply reading comprehension strategies to understand grade-appropriate text.

	GLI:             RP 8.1
	Apply reading comprehension strategies, including making predictions, comparing and contrasting, recalling and summarizing and making inferences and drawing conclusions. 


Short Answer Question:

35. How was the sunset John Glenn viewed from Friendship 7 different from most sunsets that are viewed from Earth? Using information from the passage, describe the differences between the sunsets.

Write your answer in the Answer Document. (2 points)

Commentary:
This short-answer question asks students to read the passage carefully, paying close attention to John Glenn’s descriptions of both type of sunsets, the sunset he viewed from Friendship 7 as well as the sunsets he viewed from Earth. After careful reading, students should note the differences between the two. In order to receive both points, students must provide two differences between the sunsets in space and the sunsets on Earth.

Performance Data:
The percent of public school students earning each score point for question 35 on the May 2008 Grade 8 Reading Achievement:

	Percent at Each Score Point

	0
	
	1
	
	2

	34%
	
	45%
	
	19%


Scoring Guidelines:

	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	2 point text
	The response provides two differences between the sunset in space and sunsets on Earth.
Example: The sunset Glenn viewed from space contained the whole spectrum of colors instead of just the colors at the red end that we usually see on Earth. Also, in space the sunset occurred 18 times as quickly as sunsets occur on earth.  At the end of the sunset, Glenn saw a bright blue band of light across the horizon, which would not be seen on Earth.


	1 point text


	The response provides one difference between the sunset in space and sunsets on Earth.
Example: The sunset in space was more colorful than the sunset on Earth.

	
	1 point sample answer:



	0 point text


	The response indicates no understanding of the task.

	
	0 point sample answer:




Keywords:  details, plot

BACK TO INDEX
	Benchmark:         B   
	Identify examples of rhetorical devices and valid and invalid inferences, and explain how authors use these devices to achieve their purposes and reach their intended audiences.

	GLI:                   IT 7.6
	Assess the adequacy, accuracy and appropriateness of an author’s details, identifying persuasive techniques and examples of bias and stereotyping.


Multiple Choice Question:

36. Which statement from the passage is an example of bias on the part of John Glenn?
A. “This was something I had been looking forward to, a sunset in space.”

B. “Wonderful as man-made art may be, it cannot compare in my mind to sunsets and sunrises.”

C. “Gordo Cooper’s familiar voice came over the headset as Friendship 7 neared Australia.”

D. “I needed the periscope to see the moon coming up behind me.”

Commentary:
This multiple-choice question asks students to read the passage carefully and evaluate the language the author uses. Oftentimes, an author uses rhetorical language when writing a non-fiction passage. Rhetorical language is used by an author to persuade or influence his audience. An author is biased in his writing when a personal and not a factual judgment is made. This personal statement is a matter of opinion. Some readers will agree with the author and others may not. It is important for a reader to be able to tell the difference between an author’s use of fact versus his use of personal opinion so that the reader can decide for himself what he chooses to believe from the passage. Answer choice “B” is correct. The use of the word “wonderful” in this answer choice is John Glenn’s personal opinion and therefore an example of bias. While John Glenn may happen to think that, while man-made art is wonderful it cannot compare to sunsets and sunrises, many other people may think that man-made art can compare to sunsets and sunrises. Answer choice “A” is incorrect. This statement is a fact and one that can be verified or proven. Because the goal of most astronauts is to experience space travel, the reader can rightfully believe that this statement is a fact. Answer choice “C” is incorrect. This statement is a fact as it can be verified or proven by tapes from the recording. Answer choice “D” is incorrect. This statement is a fact and can be verified or proven. A periscope would be a useful instrument for this type of sighting.

Performance Data:
The percent of public school students selecting answer choice for question 36 on the May 2008 Grade 8 Reading Achievement was 62%.

Keywords:  rhetorical language, bias

BACK TO INDEX
Passage:
Mystery of the Mima Mounds
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CAN YOU SOLVE THE MYSTERY?
1  It’s one of the weirdest landscapes in the United States. Hundreds of grassy hillocks form an eerie field of bumps stretching as far as the eye can see. Located on the Mima Prairie in Washington State, the bumps are called Mima [MEE-mah] mounds.
2  Where did the weird bumps, also known as prairie pimples and hogwallows, come from? How long have they existed? Why are they so uniformly distributed? Those questions have been baffling geologists for more than a century. THE EVIDENCE
3  Mima mounds aren’t exclusive to Washington State. They also exist in Arkansas, California, Louisiana, Texas, and Wyoming, and in other countries, including Mexico, Canada, Argentina, and Kenya. However, Washington boasts “the most conspicuous, best-developed” mounds, said Bernard Hallet, a geologist at the University of Washington. “But why they’re the biggest here,” he confessed, “frankly, I have no idea.”
4  Excavations of the Washington mounds show that underneath their blankets of prairie grass lies a mixture of loose sand, fine gravel, and decayed plants. What’s unusual about this, Hallet explained, is that most land surfaces have a top layer of organic material—dead plants and animals—no more than half a meter (1.6 feet) thick. The question is, what caused all the soil to heap up? The theories range from plausible1 to wildly improbable. You be the judge. FISH, SOIL, ANTS, WATER
5  One theory holds that the mounds are the remains of giant nests built by fish when the area was submerged by water many years ago. Another theory holds that the mounds are remnants of frozen chunks of soil left behind when the glaciers receded at the end of the last ice age, 10,000 years ago.
6  Some scientists theorize that the mounds are vacated anthills or began as uprooted trees that then collected other organic debris. Others suggest the mounds were whipped into shape by helical, or spiral, flows of groundwater. SEISMIC ACTIVITY
7  One of the more popular theories was hatched by Andrew Berg of Spokane, Washington, formerly a geologist with the U.S. Bureau of Mines. Berg’s theory came to him shortly after the Mount Saint Helens volcanic eruption in 1980, while he was building a doghouse. As he hammered together sheets of plywood coated with volcanic ash, he noticed that the hammering vibrations caused the ash to heap into small mounds that looked a lot like miniature Mima mounds.
8  From that observation, Berg hypothesized that vibrations from violent earthquakes could have formed the Mima mounds. According to Berg, the soil on the Mima Prairie is like volcanic ash, and the layer of rock below that is like a plank of wood. When seismic waves—shock waves produced by an earthquake—move through the hard ground and bump into faults, or large fractures in the ground, the waves bounce backward. Those ricocheted2 waves collide with other seismic waves from the quake, and between the collision points, the soil rises and forms mounds.
9  Berg claims that Mima mounds occur only in seismically activeareas—areas where the ground is unstable and many earthquakes occur. The area where the Washington Mima mounds are found experienced a major earthquake about 1,000 years ago, he notes. POCKET GOPHERS
10  A rival theory is that the prime suspects in the Mima mound mystery are pocket gophers—small, burrowing rodents with fur-lined “pockets,” or pouches, in their cheeks. The theory is that gophers tunneling into loose soil run into a gravel layer below. Unable to burrow any farther, the gophers start building upward and outward. Many years and gophers later: gopher domes!
11  Sound far-fetched? The theory’s author, George Cox, a recently retired zoologist at San Diego State University, says that a gopher family of ten can move up to 5 tons of earth a year. That’s one-twentieth of the soil in an average Mima mound. What’s more, Cox asserts, most North American mounds are in gopher territory, and many gophers actually live in mounds—except the ones in Washington State! The only pocket gophers ever spotted on Mima Prairie built their burrows between the mounds, not in them.
12  Cox’s theory includes a chicken-and-egg problem. Did gophers create the mounds, or did the gophers migrate to them because the mounds provided handy tract homes3? Even Cox has admitted he’s never seen a bunch of gophers building a mound.
13  Commented Hallet, “There are no animals currently in the Washington mounds that may have played a role in their formation.”
BACK TO INDEX
	Benchmark:     D
	Explain and analyze how an author appeals to an audience and develops an argument or viewpoint in text.

	GLI:                    IT 8.7
	Analyze an author’s argument, perspective or viewpoint and explain the development of key points.


Multiple Choice Question:

37. Why does the author ask a series of questions in the second paragraph of the passage?

A. to find out how much the reader already knows about the Mima mounds

B. to increase the reader’s curiosity about the subject of Mima mounds

C. to establish the author’s attitude toward the topic of the passage

D. to model the way that information in the passage will be organized

Commentary:
This multiple-choice question asks students to read the passage carefully and to think about how the author appeals to an audience. Answer choice “B” is correct. Asking the reader a series of questions about the subject of a passage is a technique an author uses to capture and keep the reader’s attention. Answer choice “A” is incorrect. Since the author is not having a actual conversation with the reader, these questions would not be answered by the reader. Answer choice “C” is incorrect because while the second paragraph asks a series of questions that help create interest in the Mima mounds, the author’s attitude toward this topic has not yet been established. By reading the entire passage, the reader will come to understand that the author’s attitude is one of awe towards the Mima mounds. The author thinks of these mounds as a mystery and that there are many different theories about the mounds and how they originated. Answer choice “D” is also incorrect because while a series of questions is asked in the second paragraph, the rest of the passage is not organized by the author presenting a series of questions. There may be single questions in some of the remaining paragraphs in the passage, but not a series of questions.

Performance Data:
The percent of public school students selecting answer choice B for question 37 on the May 2008 Grade 8 Reading Achievement was 75%.

Keywords:  organization, author’s attitude

BACK TO INDEX
	Benchmark:     A
	Apply reading comprehension strategies to understand grade-appropriate text.

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

38. Andrew Berg based his mound theory on an observation he made while

A. building a dog house. 

B. studying pocket gophers.

C. experiencing an earthquake.

D. watching a volcanic eruption.

Commentary:
This multiple-choice question asks students to read the passage very carefully and recall information. Answer choice “A” is correct. In paragraph 7, the passage states “Berg’s theory came to him shortly after the Mount Saint Helens volcanic eruption in 1980, while he was building a doghouse.” Answer choice “B” is incorrect. The correct answer, Andrew Berg based his mound theory on an observation he made while building a dog house, is found in paragraph 7. The theory that pocket gophers are prime suspects in the Mima mound mystery was put forth by George Cox and is discussed in paragraphs 10, 11 and 12. Answer choice “C” is incorrect. Even though the seismic waves created by the earthquake are part of Andrew  Berg’s explanation for his mound theory, the passage does not state that Berg himself experienced an earthquake. Answer choice “D” is also incorrect because while the Mount St. Helens eruption is mentioned at the start of this passage, the passage does not state that Andrew Berg watched the volcanic eruption.

Performance Data:
The percent of public school students selecting answer choice A for question 38 on the May 2008 Grade 8 Reading Achievement was 62%.

Keywords:  comprehension strategy, recall

BACK TO INDEX
	Benchmark:     C
	Recognize the importance and function of figurative language.

	GLI:                             AV 8.4
	Infer the literal and figurative meaning of words and phrases and discuss the function of figurative language, including metaphors, similes and idioms.


Multiple Choice Question:

39. “One of the more popular theories was hatched by Andrew Berg of Spokane, Washington, formerly a geologist with the U.S. Bureau of Mines. Berg’s theory came to him shortly after the Mount Saint Helens volcanic eruption in 1980.”

Which meaning of hatched is used in this sentence?
A. produced from an egg

B. brought into existence

C. included thin parallel lines in a drawing

D. inserted contrasting material into other materials

Commentary:
This multiple-choice question asks students to read the passage carefully and pay particular attention to the use of the word hatched. This word appears in paragraph 7 and the author of this passage uses the “figurative” rather than the “literal” meaning of the word. When an author uses the figurative meaning of a word, the author is using a meaning that is a symbolic interpretation of the word and not the literal or actual meaning of a word. Answer choice “B” is correct. In the sentence from paragraph 7, the author is referring to where the theory came from or who brought the theory into existence. Answer choice “A” is incorrect. Since this is scientific theory, it would not have been produced from an egg. Answer choice “C” is incorrect because a theory is a piece of scientific writing, not a drawing. Answer choice “D” is also incorrect. The passage does not state or infer that Andrew Berg inserted contrasting material into other materials. 

Performance Data:
The percent of public school students selecting answer choice B for question 39 on the May 2008 Grade 8 Reading Achievement was 84%.

Keywords:  vocabulary, figurative language
BACK TO INDEX
	Benchmark:     B
	Demonstrate comprehension of print and electronic text by responding to questions (e.g., literal, evaluative and synthesizing).

	GLI:                      RP 8.2
	Answer literal, inferential, evaluative and synthesizing questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

40. Why might the pocket gopher theory proposed by George Cox fail to hold true in Washington State? 

A. The gophers could not have created such enormous mounds.

B. The mounds are too close together to be created by gophers.

C. The gophers live between the mounds rather than in them.

D. The mounds exist in areas where gophers have not lived.

Commentary:
This multiple-choice question is an inferential question that asks students to read the passage carefully and use information from the passage to draw a conclusion. Answer choice “C” is correct. In Washington State, the gophers live between the mounds, suggesting that the gophers did not create the mounds. Answer choice “A” is incorrect. In paragraph 11, George Cox states that “a gopher family of ten can move up to 5 tons of earth a year.” Answer choice “B” is incorrect. The passage does not specify how close the mounds are to each other. Answer choice “D” is also incorrect because as stated in paragraph 11, “…most North American mounds are in gopher territory, and many gophers actually live in mounds-except the ones in Washington State!” 

Performance Data:
The percent of public school students selecting answer choice C for question 40 on the May 2008 Grade 8 Reading Achievement was 48%.

Keywords:  inferential question, comprehension

BACK TO INDEX
	Benchmark:     D
	Explain and analyze how an author appeals to an audience and develops an argument or viewpoint in text.

	GLI:                    IT 8.7
	Analyze an author’s argument, perspective or viewpoint and explain the development of key points.


Extended Response Question:

41. The author uses language to create a sense of mystery. Provide four examples from the passage that support this statement. Write your answer in the Answer Document. (4 points)

Commentary:
This extended-response question asks students to read the question carefully and focus on the author’s use of descriptive language. Since the subject of the passage is the mystery that surrounds the Mima Mounds, not only should the student focus on descriptive language in the passage, but also language that adds to the air of mystery that the  author has created.

Performance Data:
The percent of public school students earning each score point for question 41 on the May 2008 Grade 8 Reading Achievement:

	Percent at Each Score Point

	0
	1
	2
	3
	4

	23%
	22%
	22%
	16%
	13%


Scoring Guidelines:

	Exemplar Response:



	Other Correct Response(s):



	Points
	Student Response

	4 point text
	The response includes FOUR examples from the passage that support the statement.
Examples:


• He titles the passage “Mystery of the Mima Mounds”

• He uses the word “evidence,” which is language often used when solving a crime or mystery

• He puts a heading in the passage asking, “Can you solve the mystery?”

• In the second paragraph, he asks a series of questions about the mounds, “Where did the weird bumps come from? How long have they existed? Why are they so uniformly distributed?” Then he says that the questions have baffled geologists for more than a century.

• He “interviews” Bernard Halle, much like a detective might interview someone while trying to solve a mystery.

• Before introducing all the theories, he says, “You be the judge.”

• He uses phrases like “One theory holds...” and “Others suggest,” just like the different ideas people have when they are trying to solve a mystery.

• He says, “One of the more popular theories was hatched,” to make it sound like a scheme.

• He uses phrases like “Berg claims” and “Cox asserts” which is language often used when solving a crime or mystery.

• He uses the phrase, “the prime suspects in the Mima mound mystery are pocket gophers.”

• He uses the phrase “Sound far-fetched” which is a phrase used to describe someone’s crazy explanation or lie.

• He uses the phrase “chicken-and-egg problem” to show that people are still puzzled about what came first, the gophers or the mounds.

• He uses descriptive words such as weird and eerie.

• Other relevant text-based responses

	4 point text
	The response includes FOUR examples from the passage that support the statement.
Examples:


• He titles the passage “Mystery of the Mima Mounds”

• He uses the word “evidence,” which is language often used when solving a crime or mystery

• He puts a heading in the passage asking, “Can you solve the mystery?”

• In the second paragraph, he asks a series of questions about the mounds, “Where did the weird bumps come from? How long have they existed? Why are they so uniformly distributed?” Then he says that the questions have baffled geologists for more than a century.

• He “interviews” Bernard Hallet, much like a detective might interview someone while trying to solve a mystery.

• Before introducing all the theories, he says, “You be the judge.”

• He uses phrases like “One theory holds...” and “Others suggest,” just like the different ideas people have when they are trying to solve a mystery.

• He says, “One of the more popular theories was hatched,” to make it sound like a scheme.

• He uses phrases like “Berg claims” and “Cox asserts” which is language often used when solving a crime or mystery.

• He uses the phrase, “the prime suspects in the Mima mound mystery are pocket gophers.”

• He uses the phrase “Sound far-fetched” which is a phrase used to describe someone’s crazy explanation or lie.

• He uses the phrase “chicken-and-egg problem” to show that people are still puzzled about what came first, the gophers or the mounds.

• He uses descriptive words such as weird and eerie.

• Other relevant text-based responses

	3 point text


	The response includes any THREE of the above examples.

	
	3 point sample answer:



	2 point text


	The response includes any TWO of the above examples.

	
	2 point sample answer:



	1 point text


	The response includes any ONE of the above examples.

	
	1 point sample answer:



	0 point text


	The response indicates no understanding of the task.

	
	0 point sample answer:




Keywords:  author’s appeal, descriptive language

BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.1
	Compare and contrast text features, including format and headers of various informational texts in terms of their structure and purpose.


Multiple Choice Question:

42. Why does the author use italics throughout the passage?

A. to emphasize terms that are followed by definitions

B. to explain how to pronounce unfamiliar words

C. to highlight topics to consider for further research

D. to cite sources of information presented in the passage

Commentary:
This multiple-choice question asks students to read the passage carefully and to think about the author’s use of italics throughout this passage. The correct answer choice is “A”. The author uses italics in paragraph four to explain the definition of organic material- dead plants and animals –no more than half a meter (1.6 feet). The author also uses italics in several more paragraphs to explain the definitions of helical, seismic waves, faults, seismically activeareas,and pocket gophers. Answer choice “B” is incorrect. Phonetic spelling usually shows pronunciation, not definitions. Answer choice “C” is incorrect. Headings, not italics, are usually shown to highlight topics to consider for further research. Answer choice “D” is also incorrect because sources of information are usually included in parentheses.

Performance Data:
The percent of public school students selecting answer choice A for question 42 on the May 2008 Grade 8 Reading Achievement was 57%.

Keywords:  features and characteristics of print

BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.1
	Compare and contrast text features, including format and headers of various informational texts in terms of their structure and purpose.


Multiple Choice Question:

43. The first heading in the passage is different from the other headings in that the first heading is intended to

A. state the author’s opinion.

B. arouse the reader’s curiosity.

C. provide a warning to the reader.

D. compare views about the topic.

Commentary:
This multiple-choice question asks students to read the passage carefully and think about the function of the first heading. The correct answer choice is “B”.  The first heading “CAN YOU SOLVE THE MYSTERY” is meant to arouse the reader’s curiosity. Answer choice “A” is incorrect. The heading does not state the author’s opinion, but rather arouses the reader’s curiosity. Answer choice “C” is also incorrect. Even though the word “warning” in this answer choice sometimes hints at a mystery, the author of this passage is not “warning” readers to beware of anything. Answer choice “D” is also incorrect because the first heading does not compare or point out similarities between any two things, but rather arouses the reader’s curiosity about the passage.

Performance Data:
The percent of public school students selecting answer choice B for question 43 on the May 2008 Grade 8 Reading Achievement was 70%.

Keywords:  features and characteristics of text

BACK TO INDEX
	Benchmark:     A
	Evaluate how features and characteristics make information accessible and usable and how structures help authors achieve their purposes.

	GLI:                    IT 8.2
	Identify and use the organizational structure of a text, such as chronological, compare-contrast, cause-effect, problem-solution, and evaluate its effectiveness.


Multiple Choice Question:

44. What is the overall organizational pattern of this passage?

A. problem and solution

B. cause and effect 

C. comparison and contrast

D. opinion and support

Commentary:
This multiple-choice question asks students to read the passage carefully and think about how this passage is organized. Answer choice “D” is correct. In this passage, the author describes a phenomenon, gives his opinion as to what may or may not have contributed to this phenomenon and then gives possible theories and evidence as support. Answer choice “A” is incorrect. The mounds are not described as “problems” and the theories are not posed as “solutions”. Answer choice “B” is incorrect. Potential causes are discussed but not in a cause-effect organizational pattern. Answer choice “C” is also incorrect because while some mounds in different places are compared, comparison and contrast is not the overall organizational pattern of the passage. 

Performance Data:
The percent of public school students selecting answer choice D for question 44 on the May 2008 Grade 8 Reading Achievement was 56%.

Keywords:  organizational features and characteristics

BACK TO INDEX
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